oo

FeO O THiOOODOOOOOOOOOMO

oooobboooobooboooooon
M64530 00000

2008000 300

gogoboboooobobooo



ud

gbooooboobOobobOooooboobooboboooooboooooobOooboOobOono
goooobooboooooboooobbooboobooboooooboooobooooooooboboooboobooo
gooooboboooooobobooboooooooboobooobboooobboooDogboboooo
gbooooooboooooo

0000000000000 00000O000000000000000O000O000 VASP(Vienna
Ab-inition Simulation Package) 000000000000 GGAUOODOODOODOOODOO PAW
00000000ovASPOOOO0O0O0O0O0ODOOODOOO GUIOODOO MedeADDDOOOO
ogooog

OooOO000becFeO CuOO SiODOOOOOO0O0O0O0O0O0O0O0O0FeO CuOO0O0O0O0O0O0O0O
O0000000000Fe0O CuODO0O0D0OO0O0O000OO0DOOO0OO 15%000000000000
0000000000000 0000000000000000001254%0000000000
15%00000000000000000000000C0000O00DO0OUODO0OOOOOOO
oo0000cCuO00Si0OFFeOOO0O00O0O0O0O0O0OOOOOOOFe-Si-CubOO0DO0O0O Sid Cul
goo0oooo0o00o0ooooo00ooooo0o00ooODOoOOo00ogg Feo CubOOOoOO
oOo0sidoooooooooooooooooOoO0ooooooocwoooooooDooon
gooooosibooooobooooooooooooooooooooDboOooOoooDooOoooo
bec0O0O0O0O0O0O0O0O0O0O0O0O0O0OOO
goooO0O0o0o00ooooooooooOoOoOoOocebOOOD3d00000 FeOOOOOOODO
000000000000 becFeD 3dO0O000D0OOO00ODOOOOO3dOOOOODO0ODO
gboooooobooooooooboooobooboooooboooobobooooooobooooboboon
gooooooooboooobobooobboooooooboooboobooboobboooooooo
gboooooooooooobooooooobobOobobooooooboobOobobobo
gbooooooboooboobooobooobOooboooobooobooboobooboon
gboboooooboobooboooboboobooobooboboobooooboooooooboobooon
gobooobooooooooooobooobooboobooboobooobooobobooooboooDo
gbobooboooboooboooobooobobooooobooooooboobooboooobooDbn
gbooooooboboobooobooooboobooooobooon

gboboooboboboo Tioooooboooobooooboobooobooboooobooon
00000000pDoo0DooO0ODOO00000000 y-surface000000v-surface000000O
gboooobooboooboooobooobooboooobobooobbobooooooboobooon
gboooooobOooobooobooobobOooobooOooboOooooooboooboooobooOoon
O00000000000o (000200 y-sureface 0000000000000 O0O0OO y-surface
O F(stable fault) 00 0000000000000 OD0OOODO0ODOOOODOOOOODOOOOO
goooooooobooooorooooOo0o0ooobooOoooooobooooooooooogo
gbobooobooo Tioboboooooboboobooboooobooboooboobooooon
Ubobo0o0ooob0obOo0 FeODUODOOODOOFedD TiOOOODODOOOOODODOO
gooooobo0o0ooo0ooDbD Ticooo0oooooooobo04doooooooooooo
00000000o000D00oO00000O0000000 hepODDO TiD FeOOOOODODOOO
goooooOoooobooooooboooo4dOoo0oooo0ooobbooooDbboooooDoon



goooobobooooooboooboobooboobboobooboooooobooooboboOooo
go0o0o0o000oOOo0O0000oOD FeOOOODOOOOOODOOOODODOOOODOD
000 zz000000O00ONPOOOODOOOOODFeOODOOOODODOOOODOOO
goooobooooboooooobooobobooobooboboobooooobooobooooboooo
gbooooboobooooooo



g1d 0Od
1.1 DODOOO .« e

g20 0Oo0Oo0o
2.1 VASP(Vienna Ab-initio Simulation Package)[8] . . . . . . . ... ... ... ...
211 00000000000 ... e e
212 O00O0O0O0O0 ... e e e e s s e s
2.1.3 PAW(Projector Augmented Wave) 0 . . . ... ... .. ... ......
214 O00000 .. e s e s e
2.1.5 INCARFileOOODO parameter[8] . . . . . .. ... ... ... ......
2.1.6 POSCARFile. . . . . . . ..
2.1.7 POTCARFile . .. .. . ...
21.8 OUTCARFile . .. ... ... .
219 KPOINTS . . . . ..
2.2 MedeA[10] . . . . . ..
23 OODOOO0 .. e e e e e e s s e e

030 FeOO CuOOODOODOODOODODODODO
3.1 00000 .. e e
3.2 OO o e e
321 OO .o
322 000000000 ... e e e e
33 0000000000000 .« . . o v vt e e e e e e e e e e e e
331 pureFeOOOOODOOO ... 0ttt e
332 pureCulOODOOODOO .. .00 o e s e
333 Fe-CullOOOOOOO ... ot e e e e
334 Fe-SiOOOODOOODO ..o e e e e e
335 Fe-Cu-SiOODOOOOODO ... e e
3.4 OO .
341 000000000 ... s e e e e e
3.4.2 POSITIONOOODO . ..o e e e e e

040 FeOODOOOOODOODOO
4.1 OO o e
4.2 OO o
421 0000000 ... s e

w

© 00 N O e s



4.3 OO000O00OD0 .« .o e e e s
44 0000000 ... e e
441 000000 .. e
442 0000000 ... s e

4.5 OO0 .. e

Os50 TioOODOOOODOOOODOOOO

0.1 OO oo e
5.2 OOODO .. .
5.3 UOOODOODO ..o e e e
5.4 OOODO ..o e
0.0 OO L oo

5.5.1 000000000000 ... s

5.0.2 OOOOD0OO0OD0O0OD0OO ... e

060 44d0000000O00ODO TiOOOODOO

6.1 DO . e e
6.2 OO ... e
6.2.1 c/al0 . ...
6.3 OODODO .« . o e e e
64 O0O0000O00000 ... . e
6.5 OOODOODOD0 . ... e e
6.5.1 O0OO0O0O000O0O0 .. ... e
6.5.2 UO0ODODODOOOO0O0O0O0OD0O0O ..ot s e
6.5.3 O0O0O00aO0OcO .00 oo o e
6.54 O00O00000 ... e
6.6 OO0 . .. e e
o770 OO

0 0 A OO (00O Maple script)

A1 OOOOOOOO(E-V)OOOODO « . o0ttt e e e
A2 TiOOOOOOOOODOOO0OO . ... e e e e e
A3 gsurface OO0 . .. o o000 e
A4 ¢/ab000 Fitting . . . . . . ..o i

0 OB OO (00O SHELL script)

Bl ODOO00O0O0O0O ... e e e e
B2 TidOOoOOOooOOooOOoOOeosOOO0OOOOOOOOOODOO ...... ...
B3 E-VOOOODOOOODOOOOO ... e

ii

43
43
44
44
45
46
46
48

50
50
52
52
53
53
56
56
57
60
64
64

66

71
71
73
75
7



DocCcoo(@ooo) 85

C1 0000000000000100000000000000 . ... ....... 85
C2 000000000 ..o\ttt 85
C3 000000000 . ..ot 86
0O0ODOO(@OO0on0) 87
D.1 FeOO Cu0D0000000D00000000 .. .00 87
D2 0000000000000 .+ .+« 0ot o e e e 92
D3 TiDO0OOO0O0D0000000000 . ..ot 94
D4 440000000000 TiO ¢/a000000000 .« ... ... ... ..... 95

iii



10 Ui

gboooboobooooboobooboooooooooooooobooobooboooDooo
gooooooooooobobooooooooboobooboooboooooooooDbooDboboooo
gboboboboobooooboooonoboboooboooboooooobOobOobOobOobo
gbooooooooooboooooboooboobbooboOobooobooobboobooboooon
gbooooooooobooobobooooboobooobooooboobooboboobooobooo
gbobooobooobooobooooboooboobooooboobooboobooooboooonn
gbobooobooboooobooobooboooboboobooobooooboOoobbooooOooonn
obobooooobooooobooooboobooboobooooboooooboon
gooooboooooooooooboooboooboboobooooobooooobooobooobobooo
gbobooobooobooobooobooobooooooooooooooooboboooobooooOooon
gboboooooboboooobooboboooobobooooboobooooooboooon
gbooooooboooobOooobooobooboooboobooobooboooooooboboOoon
gooooooooooobooooooooobooobooboooooboobooDbOooDbOoOoDo
gboooobooobboooooboooboobooobooooboooboobooooooboobooon
gboobooooooboooobooobooobooobooobooooobooobooooooooon
gboooooboobooboobooobooboo
goooooooobooooooobooobooobooboboobooboooboobbooboboOoD
gbooobooooboobobooobooooobobOoboboboboooobooobooboOoDba
ooo

1. 00000000000000000000000000000000 60%0000000
good

2. 00000000000D00000O00DO00O0DO0O0OO 1/30000000000000O
gobogobooooboooog

. 000bO0ob0obooboooboooboobooboboooboooOobooboOooooboonn
gbooooOOxOOoooOooooooboooooooooooooboooboooboooooooog

4. 0000000O00O00O00O00 000000 bOO0bOOobObObObOOObOOobOODbOn
obooooobooooobooooooon

5. Jboboboboobooboobooobobooboon

gbooobOoobOoobOooobooOoooobOobObOoOoboboOobooOobobooobboooboonn
00o00000o0oo0o0ooo0o0oooUooooooooo 3o

gbbooobooobooboooboooooobooboobooboobooboooobooooon
gboboooooooooooobooobobooboobooboobooboooooobooDn
gbobooooooooboobooobooobooboboobooobooOooobOOoobOooboOooDn



gooooboooooooboooooobooboobOoooboooOobobbooboooboooboooo
gboooooobooooboooboooobobobOobOoboooooooobooobooboOoDbo
gboooooooooboboobooooobooooooobooobobOoboooooooo
gooooooooobooboooboooboobooboooboooobooobbooboboooo
ORutileDOOO00Ti0,00 00000000 PerovskiteD OO OOOOCeTiOs00000000
Ollemenite0 000000 Fe70;0 0000 000000O0O0O0O0OOOOOOOOOOOOO
gbboooooboooboobooooboooboobbooboooooooboooobooobooOoon
gooooobooobooobobooboboooooooboooooboobbooboooboobooooooo
gboobooobooboooooboooooooooboobooboooooobooobooon
gbooobooooooooboooboobobOoooOobOOoobOoboobOooboobboooboobn
gboboobooobooboooboooboobbbooboboobbooboobooboooooboobooooon
gbooooobooooboooobooooboboboooboooooboobooooo
gbobooooooooooboooboobooboobooobooobooboobooonbn
gbooooboboobobooobooobooboobOoboobooooooooboobobooboDba
gboboooboobooooobobooooboobobooobobooooobobooooDoOoDbOon
gooooobooooooobooobooooooooobbooooobboooooooboooD
gboboboooooooboobobobobooooooobooobobobooooboooo
gbobooobooooobooobooobooobobooboobooooobob1o00oboo0ooaon
goooooooooboooboobooboooboobooboobOoobOoobbboOoDbo

b Ooﬂoug
(]0090 o@®
me a P ops
et 2 8 1

{A4k)

*®
e
LN ]
* e
LN
[ N ]
L N
L]
LN ]
LN ]
LN )

AT

R
TH#ME . MR

011: 0000000000() 000000000 (0500)0(kh)000000000 (050
0)O(c)000D000 (0 100000)

gobooboooooobobooooboboooooobooboooDooboooboooobooooo
gboooobooobooobooboooooboooboobooobooooooobooobooooon
gbooooooobooooboooooooboooboooboooboooooobooooboooooboon
gooooboooobooooooooobooobobooboooboooboooboooboooooobobooo
gbboooboooboooboobooboooboooooooboooobooboboobooboooon



0000000000 0O000oo0oUoooooooo 9o
gbobooobooboboobobooobooboboobobooOoooboOooobobOobOono
gbobooooboooboooboobboooooOoobooooOooboooboobooobooOoboooon
goooboooboogooooooooobooboboooooboooboobbooboobooobooboboo
gboooobooobooobooboooooooobooobooboobooboboOooooon
gboboboboboooboooboooobobobOoboboooooooobobOobonog
gboboooooboooooboooobooboooobooooooboobooooobobooog
goooobooooobooobobooboooooooobooooobooooooboooobooobbobooobo
gbobooooooooboooboooboobooboobooobbooobooboobooonbn
gboooooooooboooboooobooobooOoooooooooboobooobooon
gbobooooobooooooo

1.1 Ooggd

gbooooooooobooooboooobooobbooooooooobboOobooOoooooDbn
gooooooobooobooboobooobooooooooooboboOoobooboooobooo
0o0o00oooooooooooOoCoCoOO0oO00oooooooooOO0O0OFedOd CuO
gbooboooooooboooobooobOoobooobOooooobooobobooooooonre
00 GuOOO0OO0O0ODOOCOOOOO0ODODOOODOOOOOODDOOOOOODODOODODODOOD
g0oooooopoooOooO0o0oOOo0OoOoOOo00goooooDpDOoooOooCceubObO 3dO0D
goo0bDOoO00 Fe0000OO00OO0O0ODOOOODODOOODOODODODOOOODOOOODOD
gbobooooobOobobob0rebO0obOOoO0OOOOODOODOOO0OOOOOOObOOO0OOnOO
gbobooboooooooobooboboboooooooboobobobooTioboboobooo
gboooooobobooobooboboooobooboboooobooboooooobooooon
gboboooboobooboobooboTicobobooooobooboooooboooooooboon
gbboooooooooooooboobobOoobooooobooobooobOoobooobbooooDn
U0 TigdoooooooooDb re00000DO0OO0OO0OO0OODODOOOODOODOTIODOO
00000000000 Tiocoo0 FeOODOOOODOOO0OO0O0O0OODODOOOODODDOO4d0O
gbooooobodb Ticobooboooobobooboobooboooobooooobooboooon
O0FeOO TiOOOOOOOODOODOOOOODOOOOOOODOOOOODOOOO



20 4Ootd

goodooooOoOooOOoOooDoO0oDOOobooOoooooooooooDooooooooood
O (First principles calculations) 000 000000000000 00ODO0OO0ODO0OOOOOOO
00000dddooo0oogoo vASPOOOOOoOoooooooDOooooOogooooooogo
goodooOooboOoOooOO0O0ooOOoOo0bOoOobOOobODOo0obDOoObbOOoOobODOoobOogbobooo
gobodooooooooOOdbOoO0oDOooOobOdbOoo0oo0ooOoDo0obOoooooDOooDOoDOoooo
goooooooooooboobboooooooOoooooobDobobOo0oooooooDboOoD
gbobo0oO0ooO0obOoboOoO0ooOOobOobOoOO0oOoOoDO0bOOoUobOOobODOobDOoUOobOOooDOobooooo
goodoooOoOoboO00ooooobOo0boOOobooOdobOoobOoOoooOOobooOoooooono
Joo00oOOo0ooo0oOo0oooooDoooOo0oDO00DoDoo0ooDOo0oOoOOoooDOoooDOooon
0000000000000 00o00000o0U00o0UoO0ooOUoOO0 fJDo00o0oo
goodo0ooOOo0ooOOoobooooUoboOo0obOo0o0bDOoooDooOoboOOobOoooogbobooo
goo0d00Od0oO0o0o0obOOo0obOoO0bOOoO0OOO0bOoO0boOo0o0obOoOOobOooDooDoODo
J0pCO0O0O00OD00OOOODOOODOOODODODODOOODOODODODODODOO
ooo

2.1 VASP(Vienna Ab-initio Simulation Package)[8]

VASPOOOOOOOOOOoOoOoOOO00oooo rPAWOOOOOOOOOOOOOODOOOOO
gbooooboooboooboooooboooboobooooooboooboboooooooboooboon
goobobooobooboooboooboobooboobooooboobooboooobooooboooDn
g0o0ooooooooooovASPOOOOOOO0OOODODOOOOOOOODDOCOOOO
gboooobooooboooboooooooboooooooooooooooboooboooboon
gbobooooboooboobooboobooooooooboooobooboooobooboooooon
gooo0O0O00000o0oOO0OO0O0O0D0U0OOOOOPAWOODODODOOOODOOOOOO
gooooooooooooooooobooobooobooobooobooobooooooobogo
gboooobooboooooboooobooboooboooaon

2.1.1 Oogooboooood

oboooooobooooboboooboobooobooobobO0ooboooooooOoooooonn
gobooobooo21000obooobboobooobooooooooobbooboobboooooo
gboooobobooooobooooboboooobooooboobooon
oboboobOoboooooboboooooobobooooooobooboboooobobooboooog
goooobooboobooooboooboobboooboboobobooobooooobooobbooobooon



£®WFiE (ful potential) FoHiEa | | 1) EFMERS

2EFi% (muffin-tin) SIC -Gaussian

S BTk (PAW) GW -Slater

BERT L2 L&/ L LRT) LDA+ U 2) FmE

DLV IR T L GGA 3) FHmELE R
LD& (augrnantation)

= Ez R ) : ‘FLAPW
EWHMEQT l—ASW'
[1/2V2+V(r) + V()] ¥k = € kyk

BT L AE iRy
BT vl AE L

021:000000000000O0000OOO (9]

gbooooooo
VU 4+ VU = eV (2.1)

gooooooooooooooooobovooooovyoDOOooOooooooOooooDooo
gboboobooooooboooobobobooooooboobOOobOOobOOoboooooOoooo
gbooovyoooooboobooovooOoooboooobo b oboboobooboobooobooooobooo
gbobooobooboboobobooooboooobooooboooobooboooboooboobooboooon
gbooooboboboooboboooooboooobooboooobooboo
sCrFrO0000000000O0OO0O00OO0O0O0DOVYOOOOODODOOOOOOOOOOOOOn
gbobooooobooboboooooobovyooooobobooooboooooboboboo
goooooooboboooooooooboooooooooboboOooooooyooooooooDo
gbboooooboooooboooboooboooboooboooboOooooOoooboOooooboooon
gbooobobooooobooobooboooboooboooboo22000000b000000O0000
gobooooobooboooooooobooooooobopbobbobbobobboboboOon
gboooooooooobo pogboobbobbooobooboobooboobooooo
gbooooooboooboobooboooboobooooooooboooobobooobooon
gbobooboobobooobooboooooboboooboobooon

2.1.2 0000000

gboboobooobooboooobooboobooobooboobooooooooboooooooonn
00000 00ODFET(Density Functional Theory) D000 OO
gboooobooobooboooooboobovedboooooooboooooboooooooon
goboooboobogooe oo ooooobooooooooooo
gboooobooboooooboooooon
goNDOOOOOOOOOOOOOODODODDOOOOOOODOOODODOOODODODDOODOO
gbooooobooobooobooobobooooooobooooboooobOoooboooobooooooom
gobo0obobooobooobooob0o0oboU0bo0ob0 HOoobooboobooooooo



S E RS A
il R EREET
LRI !

n-1EB HEFEE
2 (-1

EFEEoTods
T T D

l

FRETAIET AR D
Hyb= g 4

I SERILL v (n F
f=Taarar gk

no

o inn=e -1 7

b=t

e Bt ERE T

022.0000000000000000000



doooooooooooobooooooooooooooYwoooooooo rpOO0OOO
goobobobobobooooooooboboboboboooboboboboooooo
000000000 (D0ooo0oU0ooooUo)-(boo0)-(DUDooO0)o 101000000
ggodoobobtodug p bbb bbboooob b
000000 1000000000000 0000000 100) 000000 NOOOOD
000U00o0O00o0o0U00oo0U0o0O0U00oO0O0U00o0OU0ODO0UOoO0UOoOODOoOO(COoo
0)-(oooo)-(boooo0)0 1010000000000 00000DO00O00O0O0OOOn
Udp DOOUOUOOoODODOOOOUOUOODODO
0000 NOOOOOOOOOODOOO p’'0000000000O00DOO0O0OODOOOOOO
ooooo0ow ooooOo0oO0o0o000 1000000000000 ooooooooogogo
o000 <E >

<E >= / U HY dv (2.2)

goobooboboboobooooooooboooooooDobDoboboboob0 20000 boo
gbooobooobooboooooboobooboobooOoobooobooboobooooboooonn
gboboooooooooobobooobooboooboobooboooboOoooon
gobooooboooooooboooboobooooboooooboooboobbooobooooDo
g0 300000000 NOODOODOOODOOOOoOoDOoOOoOo3000D3NODOOOoOoooDo
gboooobooobobooboooobooobooooooobooob 3gbooooooobooooboaon
gdoooooboobooboooobobOOoobOoOooboobboobooooboooobooobooOoon
goboooooooooogooboo
gbbooooobooooooooooboooooooooobooooooooooboooooboooon
gbooooboooooooboooobobooooboboboooboOoboooon

2.1.3 PAW(Projector Augmented Wave) [

O00OO0O0OvVASPOOOOOOOOODODOOOOOOOODOOODPAWOODODDDOOOOOO
0000000000000 U00D0oDoPAWOOOOUOOO(OODOUOOUOD)0D0ODOOO
00300000000PAWOOOODODOO BlochlOOOODOOOOOOOOOOOOOOO
gbooooboooooooobooooooooobooobooobooobobooooooobogon 210
gobobooooboobob 2300b0o0000o00o vooooooooooooooooo

U21:00000000000000DO00O0C0O0O00

ooooooog oQOonoOonQ
oOO0OnOnQ
oooobOobooooobooooon
x JoOooooooooooboooooo
PAW ocOOd000OOOOOOOODOOOOOOODbOOODOODn
ooooog oQOonoOonQ
(00D0OO0o00ooOo) |oOUOOODOO
gooooao xJoooooboooooooboooooo

X




0000000000000 000000D0000000D 23 0000000D0O0O0OOOODO
0000O0O00o0O0O00O0O0OoO0O0O0OboOOD 23(c)00000O0DDOUOOUOOOOOO
0000ooooooooo 21000000000000000000O0DODODO PAWODODOO
0230b)000000000000000O00D0O00O0O0O0O00UO0O0O0O0OO0O0UO0O0OOOOO
gbooooboooobooboooobobo

\ \ Vv

S s Rz

(a7 2 v Uik (BIPAWE (CYZIART e Uik

023 0000000000000000000OO

214 0OO0O0DODO

goooooooooooooooooobOOboOo0oooobo0oooooboooooo Vv ooo
gooooooooboobooobooooooboooboobooboooooboooobooboobooDn
goooobooooooooooboooboooboooooOoooooooooooooobobooo
gbooooboooooooboooobobo
LDAQO Local Density Approximation0 000 0O00)0000000000OO0O0O0OOO0OOOO
0000000000000 0000 6.000000000000000000000 Eg[n]O
gboooobooboooooboooobobooboobooooobooooboOoboooa

Eyon] = / e (n(r))n(r)dr (2.3)

000000000 (r) 0000000000000 0000000000000O .0000
On(r)D00000000O0OO0DO0OOLDACODOOOOOOOOOODOOOOOODOODOOOD
0000000000000 00000000000000000000000000O00000
00000000000000000000000000000000000000000000d
00000000D0DoO000DooO000DooOo000Doo000oDoo000oDoO00O0oDoDdGGA
000000000000 GGAD Generalized Gradient Approximationd 0000000000
000000000 00000000000000000000000000000O0O0O0000
0000000000000 0000ooo0oo0o000o0oooooooooo0oooooon
000ooooooooooo0ooooooooooooooooooooooooooooo
godddddddddoooooooooobobobboobboobooooooooooOono
000000000000 00D00000198s00Perdew 0000000000 DODOODOOO0O



gboo0o0oobo0oobooobOo0bboooon Perdewd 0ODO0ooooooboogooogoO
GGAOOODOOOOOGGADDOUOUOOOODODODODOOODOODODOOOOOOOOGGAOOO
PWIOIOPBEOB3LYPOOOOOOOOCOCOCODOODUUOLDAD GGAODODOD LDA+UDO GW
gooboooogoooo

2.1.5 INCAR File0 000 parameter|8|

INCAR File VASPOOODODO OO input file 00000 O INCAR file d parameter O O O
oot oob bbb ooobooooooon
file OOODOINCAR fileOOOOOOO parameter 000000000 QO parameter 0000
do0o000oO0oO0oOoOoOoOoOoOoOoOoOoOOO0OO0OO0OOO0O0O0O0O0O000

PREC

gooodooobobobbooboobb oo ooobooboooobuooooa
0 O Low O Medium O High O Normal 0 Accurate 0 0 00O OO Normal O Accurate d VASP4.5
000 ver.000OOO0O0OOOO (default=Medium)

NBANDS

gboobooooooobobobobooobooboooooboooooboboboboOoban
gbobooooobooobOoobooobOoooboobooboobooooooooobooDbn
gbboooooooobooobooooboobooobobOOooobOoobOooobO0oobOoooooboon
gooooboooooooboooboooboooobooobobooboooooboooooDbooD
goooO0ooopooooOooooOoOooouTrcAROOOOOOOOOOOOOOOODOOOO
gbooooboooboooboobooooboboooobooooboOobooooboooooaon

IBRION

0000000000000 0000000Uo0000O0O0 (MD:molecular dynamics),1 00
000000 (quasi-Newton),20 00000 (conjugate-gradient),30 000000000000
0 O (default=-1(NSW=0or1),default=0(else))

NSwW

0000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000 (default=0)

ISIF

000000000000000000000000000000free0000000000
0000000000000000000000000000000000000000 2200
0000000000000000000000 (default=0(IBRION=0),default=2(else))



022 ISIF0O7) 000000

ISIF | calculate calsulate relax change change
force stress tensor ions  cell shape cell volume
0 yes no yes no no
1 yes trace only yes no no
2 yes yes yes no no
3 yes yes yes yes yes
4 yes yes yes yes no
5 yes yes no yes no
6 yes yes no yes yes
7 yes yes no no yes

ISMEAR

goooobooooobooboooooboboobooboooobooboDOobobDobbOOoDO-T
0000000001000 Methfessel-Paxton 000000000000 O0OOO0OCOCOOOO
000 10200000000000000000000000000 (default=1)

EDIFF

gboobooooobooobooooooobooooboooboboobooOoooooooboobooo
gob0oobooooboooboooobooboobo EDIFFOOODOOOOODOOODOOOOO
0000000000000000000000000000000000030 (default=10"%)

INCAR fileO OO

gooo0o0O00000O0O0O0OoooOoOOOOO0O0OUODOOOODOOO0OO0 INCAR
fleDOOOODOOOODOOOODOOOODOOOODOO
0000 hepOOODOOOOOODO TiO (xy2) 0000000 (1x 1x 3)00000000O0O
O0060000000000D0ODOOOOO INCARfiled parameter 000000000 DOOO
00000 INCARfiled MedeAOOOOOOOOODODOOOOOOOOOCOOODOOOOOO
4dcpul mpi0 00000000000 O0O00DOO0O0OO 230000000000 60000A0
OO0 INCAR FileOOOOODDOOOODOOOODO
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00000 INCAR file 0 O parameter
PREC = Normal EDIFF = 1.0e-05 LWAVE = .FALSE.

IBRION = 2 EDIFFG = -0.02 LCHARG = .FALSE.
NSW = 100 VOSKOWN =1 ADDGRID = .FALSE.
ISIF =3 NBLOCK =1 ISMEAR =1

TALGO = 48 ISPIN =1 SIGMA = 0.2
NBANDS = 100 INIWAV =1 LREAL = .FALSE.
NELM = 60 ISTART =0 RWIGS = 1.45
NELMIN = 2 ICHARG =2 NPAR =1

O 23: INCAROOOOODOD

energyleV] time step O

energyleV /atom]

relaxation-loop O

default -.47293658E4+02 1m15.625s  44steps
-7.882276333 6 relax-loops
No2:(PREC=Medium) -.47294099E+02  1m7.007s 41 steps
-7.882349833 5 relax-loops
No3:(IBRION=0) error - -
No4:(IBRION=1) -.47293699E4+02 0mb52.332s 33 steps
-7.882283167 3relax-loops
No5:(IBRION=3) 0.27430343E4+04 2m37.255s 90 steps
000 error 7 relax-loops
No6:(ISMEAR=0) -47380913E+02  1m0.295s 38 steps
-7.896818833 4relax-loops
NoT7:(ISMEAR=2) -47294358E+02  0mb51.942s 33 steps
-7882393 3 relax-loops
No8:(EDIFF=1.0e-4) -47293679E+02  1m7.333s 41 steps
-7.882279883 7 relax-steps
No9:(EDIFF=1.0e-6) -47293667E+02  0mb7.656  36steps
-7.882277833 3 relax-loops
No10:(IBRION,ISIF=default) -.47275111E4+02 0m30.940s 19 steps
-7.879185167 1 relax-loops

2.1.6 POSCAR File

POSCAR fileO0O0O0OOOOOOOOCOOOOOOOOOODODODOODODOODOOOOOOOO
O000000D00OPOSCAROOOOOODODOOO xy,z00000000O0O0OOADO relaxation
ooooboooooano
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2.1.7 POTCAR File

0000000000000 0000000000POSCARODOOOODOOOODOOOODOOO
000000opooOoo000oOo00OoUooooooOoOoU00UooODDoDOCOOOd POSCARDOO
goooo0OOo0oO00oOoooooOoOoOO000DOOO0UOOOOOODOOO0O0OOOOO POTCAR
fileOOOODOOOOOOOOINCARSfileDOOOOOOOOOOOOODOOOOOOOOOOO
gpood

cut-off energy

goooooobodooooooooobobbbbbbdddddodoooooooobboboo
gooogboobobooboobobooooobobobooboboboboboboboooboob
goooodoboobooooobobobuoboobobOobobobooobobobooboo
0000000000o000ooo0oo0o00nD 3/2000000000000000000O00
goooooooood vV om. E
NPW:Q(%F (24)
O0OOOOINCARSfileDOO0ODOOUOODOOUOOODOOOINCARfileO PRECOOOOODOO
00000 (24)000000000O0OOOOOO

2.1.8 OUTCAR File

OUTCARfile00O0DO0ODOOO0ODOOOOOODOOOOODODOOOODODOOOODOO
000000000021500 NBANDSOOOOOOOOOOOOOOOOOOODODOODO
gbooooooboooooobobooooboboooobooboooooobOoobooon
go0ooooooooO™time’00D000OCOO0O0O0OO0O0OODOOOOODOODODODOODODOO
gogbgobobobooboooboobuooboobobbwohoobobooboobogon
gbooooboobooooboooooon

2.1.9 KPOINTS

goo0obOo0oO0o3000oobooooobo0oooDoboooDbooOoDboOoOOoDOg abe
gooooboboooooobooobooboobobooooboooooooboboobooobooooo
gboooooobobobobooboooboobobOobobobooboooboobooboOobo
gbobooobooobooboobbooobooOooobooboobooobooOoooOoobooOoon
x3x3=270000000000000000000000000D000 4x4x4=64 00 0O O 300
400500600 00000D000DOOODOODOOOD 2TO00OO0OOOOOOODOOOODOO
gooooooOoo0ooOo0o0oboO00oDObo00DO0o00o0O00b00O0 hepOOODOOOOODO
gokOOoOooOoOoOoooOoooooOoooOoOoOoooOooooboOooooOoOoooooooboooDo
kOoDoooooooooooooooooooooogoooooogoooooooooooo
gbooooogo
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2.2 MedeA[10]

MedeAOOODOOOOOOOOOODOOOOOODOOOOODOOOODOOOOODODOO
gobooboooobooboooooboooog

23 0O0OO0OOOO

000000000000 GGA(Generalized Gradient Approximation) 0 000000000
000000000000000000000PAW(Projector Augmented Wave) 00000000
000000000 MedeAO POTCARfileO OO E,.,, 0000 24000000 VASPOO
0000000000000 MedeADOODOOOODOOOO

024: 0000000000 Cut-off energy

00 | Cut-off energylev] | OO | Cut-off energylev]
Fe 267.883 Ti 222.338
Si 245.345 Cu 273.214
Y 211.641 Zr 229.839
Nb 208.608 Mo 224.584
Tec 228.699 Ru 213.276
Rh 229.000 Pd 250.925
Ag 249.846 Cd 274.342

13



030 FeOOCuUOUOOUODOOOOOOOMO
oo

3.1 0o

o0oooooooooooob0 cuOO0O0oooooboboooddrebOboboooooooO
oooo0o00 Fe-Cu000000OCOCOOOO0O0O0OCWOOOOOOOODODOOOOOOOODO
gbboooboooooooooboooobooobooboobooobooooboboobooboon
CuO0O0OO0OO0OOQOCOOCOOOOUUOUOUOOOOOOOOOOoooo
gooooooooobooobooobooboobooobooobooobooboobooobooobooDbo
gbobodoboooboobooboooboooooboooboooboobooooooobooobooon
gbobooobobooooboooboobooboobboooobOboobooboobooboOooDbn
gboooooooobooboooobooobOoobOOoobooooOobOboOoooobO0oobOoobOoonDn
gooooboooooooobooboooooboobooooooboooboooboboooobooooo
Uly mO0OO0O00OO0b0O0oO0OO0O0oO0bO00ob0o0oO00ob0o0o0oooobooooooboboon
gbooooboooocoogd
J00o0oooooogg Fe-CuO0OOO0OO0OOODDD CubOD SiOOOOOOOODOOOODOOO
goooooooooooboooooobooooooooooooooooooooobooDbo
gooobooo2000000000000000D0O0000O0DOOOA ROOOODODO
000310 (a0 000000000000 D0O0000O0O0DUOO0O0ODODOOO0DOOODOOOO
0000o0o0ooo0ooooOooo 3.10 (h)yooooooooUooooooouoooooooo
gbooooboobooobooboboobooboboooobog

O CuJO000D00O0000O0O0FOOOOOOOO0OOOOODOO0O0O0DOOOQO Hume-Rothery

.

000

(a)AR=0 (bYARZ>0

03l 200000000000000000000O00

0150000000000 0003200000000beeFe0D0000000ODO FeOODOD
000000000000 00O000ODO0O00O0OO0O00OOOO0OOoOoOooOOO 3.1(b) O
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gooobooboooobooooon
gboobooooboboooboob 33booboooobooooboooobooooonoon

19 () - ;Z
o BYRTF¥EE 2
18 Mo BRF¥E 1
420 =~
1.7 1 18 &
=16 n B !1;1
X 14
ﬁt 15 n €
toe 14 --q--‘l(-us%-!- 10 H
| S
) o
13 r Y 4 &
12 1 &
1.1 A N ~

Be Al Ti Cr Fe Ni Zn Zr Mo Ru Pb Sh Hf W Os Pt
Si V MnCo Cu Nb Rh Sn Ta Re Ir Au

032 becFe00OUDOODOODDOOOODDOOOOODOO [4)

0000000000000 000000FeOd SiODOOOODOOOOOOOOOOOOODOOO
O00000OooopoooOdOFe0 CuOODODOOOOOOOOOOODOODOOOOOO Culb
gbooboboooboboooooboobobobonpoooobobooobobooon
O00000oooo0o0oooooooooOooooooOocwOooooooo siggoooo
obooobOoboobooooobooboboboooooooboboooboooobooboboooon
gboboooobobobooobobobooboboboboobobobobooboaoo
gboobgoboobgoooboobobobooboobooboobooboobooo

3.2 0OU

goboooboboobooboobooboooboobooboobooo

3.2.1 00O

0000000000000 00000O00000000O0U00OO0O0oUOoOOOOO (stress) O
000000000000 (strain) 00000000 35000000000 (stress-strain curve)

15



Sicontent , C/at.%

0 0.2 05 1.0 2.0 3.0 4.0
16 [ LI T T T T ]

B it
04 | .

Vickers hardness , Hv / GPa

0.2 i I I
0 0.5 1.0 15 2.0

Si content , C / (at.%)"2

0 3.3: Fe-SiODOO Fe-Si-CuDO0O0O00O000O0O0O SiODOOO (courtsy of Dr. Futamura)[5]
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000000000000 0000000000 (elastic) 00000000 OD0OOD0OOOOOO
00 (plastic) 000000000000 OOOO (yield stress) 00000000 (yield strength)
00000000000000 (lattice) 00000000000 0OOOOOOOOOOOOOO
googoooobooboboooooboboobooooogobpb bbb bbbog
gbooboboooboobooboobooboooboobooboooboooboooooooaon
gbbooooobooobooooobooobooooboooboooooooooooboooboooon
(dislocation) 0000000000000 OOOOO0OOOOOOOOOOOOOOOOOOOO

0oooo 1o

034 0000000000000

KiRISH
= &
oY :
\
R, [T
R /
2 l <
4 s o
|

g 35 00-000

goooboboooboboboobobobooboboboboseboboobobonbo
gboboooboooobooooooooobooooooobooboobooboobOooboooDbn
gboooooobooobooobooobobOoboobooOooobOoobOoobooobbooooboOooonn
0000000000000 00000U0000000ooOoOg 8.60 A0 BOODOOOODOO
gobgobooboobooboobuoobobooboobobooboobobooboben
000000000 ;000000000000 D0O00O000OD f(=;)D0OO0OODODOOOODO
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0000 (F)DODOUOOoOooooooo

F=> f(x:) (3.1)

gbooooboooooboboooboooboobooOooobooooboooobooobooooOooonn
gooooboooooboobooboobooooobooooooobooboooooooobooooboOoD
0000000000000000000000000000000Oo0UoO0OOooO 210

036: 00 (AB)000000000000O000O0OO0O0O0O0U0ooooQ

00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000360000000000000000000000000000
0000000000000000000000000000000000000000000
000000000000000000000000000000000000

00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
0000 CO00000360000000000x=1/C000020000000000 7
00000 2=2r0000000000000000000 r=(Gb2/2)/(rh) = Gb/(2r) 00

ud
@)1/3

= (5 (3.2)

gooooog

goboooooobooooooboobooooobD nooobobbooboobobobooooboo
goooooDbb /pO00DOD0OO00DbOO0O00lIODO00bOO00DOO00DODO0O0DOD FpbODO
000000000000 rnedl=F 000 (32) 000000000000

Fy3/2
= G12p2
goooobobobbddodoooododdodddddUUoUoOooooooooooo
JddddoodoooD cooooooodad CDDDDDCZQC/b2DDDDDDDDDDDD
Oo00d0o0oooooooooowooooorFOOOooOoo F:W/bDDDDDDDDDDD

cl/? (3.3)

70
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00000000 3.3)00oooo

_ VIWER 4
G1/2pL/2
00000000000 U000D00O00000O00OO0 3/200000000000000OO
gooogdoooOOoooOOobOoOO0bOoO0DO0oOO0DOOo0oOOoO0ooOOoooOOoOooOOooDOoOooDo
00000t 000000000 Do0oD0oDO0oooooooooDooOooooooooo
000000000000 edge dislocationd 000 0O OO O screw dislocation0 OO0 002000
good0ooOo0obOoO0o00ooOOoobOOoO0bOOobObOO00obOOo0obDOoOobDOObOOoOobDOoOoDo
J0o0o00doO0o0oo0oOo0ooO0o0ooDo0ooDoo0ooDo0ooDoooOoDDoDOo0ooDoOooDOoOOon
goooooooboooboo0ooooooooooooooOoooooooboooDbooboOoo

gbo0oo0O0bOobOoOooOOobOoOooOobDOoboobooooo.

(3.4)

70

TR AL FARE(L 5 AL
RFLAN U 2AmETIV L 2AETIV

037000000

3.22 0O0O0OO0OOOOOO

gbobooobooboboobooooboboOoooooboboooooooboobobooooboOoonn
gbobooooobooboooooboboobooobooboboboooobooooooboOoobooon
goooooooooooooboboobobobooooooooooobobobUobOoDo
gboooobobooboobobooobooboooobooboooooboooon
gboooooobooooboooooobobOoobooboobooOooooboooboooooboOooonn
goobooboooooooboobobobooboooooooboboboboobooooboooo
gooooboooooooboooboooboooboooboobboobbobooboooooboooDboOoD
gboobooobooobooboooobooooboooobooooboooobooooboo
gboooooobooooboooooobobOooboooboobooooobooooboooooboOooonn
gboooooboboboobooboooboboobooboobooobooooo
gboboooboooboooboooobooobooooooobooobooooooooooboooono
gbobooobooboooooboooooboooobooboooobOobooooon
00000000000 (CwhOOoooOo (Fe)OOODO0OODODDOUOOOODOOOOUOOOOOOO
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godoooooboooooooooooooooobooooooooooooooooooooo
goddoooooooooooobooooooobooooooooooooobooooooonboo
go0ooooboooooooobooooboooooobooooboooboooooboooooono
godooooboooooooooooooooooooooobooooooooooooon
goddooodooooooooboooobooooooooooooboooooooboooooa
00000000CDOOOO0OD0O00000000O0D0DbODOOOsizeeffectD 00 0O0O0OOODOOO
gdbooboboboboo0ob0ooboobuoobuoobobodpinningd00OO0ODOO
godoooooooooooootboooooooooooooooooooooooooon
go0o0bo0o0ooooooooooooobooooooooooooooooooboooon
000000 O0ODOO00000boOODbO0000o0obO000 POO0ODOOOO AvODODOOOOOO
000ooobooo0on0 PAvOODOOODOOOOOODOOODOOO
Ope + Oyy + 022

3
ooooddde;000000000000000O0O000000000 7000000000
Av0000000000 000000000 mOr=r(l+e) 000000000000
DDAU:4W£TO3DD[Iﬂ:ﬂal:ll:l[II:JDDDDDDDDDDEDDDDDDDDDDDDDCDD
Jo00000o00boo0bo0 eO0000e0000O0O0O000O000OO0O0O0OO0O0OO0OOAO
ooooooood

pP= (3.5)

- (%)%% (3.6)
O000PAYOIDODOOOOODOONOOOOODOONOOOOOOOONOOD WODO
LAy (3.7)
r T +y
00000000000
A= ?f(llt’;))c:mv = MGbgro?’ (3.8)

goooGco0ooo00vyOO0O0O0DOOO0Os0DOOO00O0ODOOODODODOOO0-,O00D00O00O00ODO
ggbgobobbooboabtuybobbobboobooboobooboobobooabo

3.3 Uubuobuoooooobn

3.3.1 pureFelOOOOOOOO

bec e 000000000000 000000O0O0DO0 kx0000000000000000

000000000000 pure Fe 000000000000 0becFeD (1x 1x 1)0(2x 2x
2)0(3x 3x 3)00000total 0000000000000 0F200 [(1x 1x 1)]0160
O[(2x 2x 2))05400 [(3x 3x 3)]0100000000000000000000000
Ototal D000 D0D0000 E-VODODOOOOOOOO (038 00000000000000
01000000000000000000k0000000000

000000000000 000000000000000000000INCAROKPOINTSOOOOOODOOO
oo000ooOo0O00ooO000ooO0o00o0oooOo00oooooooooon
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Volume [A3/atom]

S S S S S T S W S S S S S S S W S S W W S W S W W S S W w——v |

—_
> \ S
o ] o /
) \ . p
= / ’
w ) ys
8 % s
1Y
/ o
\ 4
" N ’ /
N\
AN oy
- ity 4
LR N 8-
e

O 38 Er.—V OO

3.3.2 pure CullODOODOOODO

0000 FeOODODODOD 1.24[0]0Cu0 1.27[0]0000000000000Fed CuO0
000000000000000000000000000O0O0pureCu00000000000
E-VvDOO0OOooo (0 3.9)0

3.3.3 Fe-CulUODOODOODOO

0000000000 Fel6OOOOODOOOOOODODOOOODODO SCALEODOOOOO
O0000000000Fel60000 1000 CulOODOOCODOtetal DO0O00O0ODDOODODO
O000relax 0000000000 3100000 D400OOO0O2

3.34 Fe-SiDOODOODOODO

Fe-CuOOOOOFel6OOOO 1000 SiO0O0O0OD0OO0OOtetalDOODOOODOCOODODOO
O0relax 000000 relax 0000000000000 0OOCOO 3110000 D50O0ODO0O
gboooobooboooobobooooobooom

3.3.5 Fe-Cu-SiOODOOOOO

FeloOOOOD 1000 CulOOOCDODOODODO FelODODO SIIOD0OO0O00OO0OOtotald
go00o0oOooooOoSio cwO0OooOoO00oooOO00DoO0o00oOoOoU0ooOoOoOoooDOgO Fe
gooopopooosibooooopoooooooooooooooooOs12000O

200000000000000000000000000000000000000000000000000000
00 p—-viOooooOopooooooooooooo
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Energy [eV]

Energy [eV]

Volume [A3/atom]
9 10 n 12 13 14 15

Ad A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A}

0 3.9 Ecy —V OO

Lattice Constant [A]

x
26 27 28 29 a1

2O O DR~ l N e T el kS T T T Y W M LN e S

2 Fel5-Cul
o
\ ,/f o Fe15-Cul(relax)

Fel6

0 310: CulO000000000000O0DOODOOO
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Energy [eV]

Energy [eV]

Lattice Constant [A]

031181000000 00oooooooooooon

Lattice Constant [A]
x
26 2.7 28 29 3 an
118
Cul-Fel4-Sil

ceeemeemecascancee. Cul-Fe14-Si1(relax)
we e CUT-Si1-Fel4(relax)

O 3.12: CuO SiODO0O0OOOOOOOOO0O0O0O00000
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3.4 00U

3.4.1 O0O0O0OOOOOOd

Fel60O Fel5-Cul(relax)Od Fel5-Sil(relax) 0 E—V OO0O0O0O0O0O0O00OO0OOOOOO 3.1300
O00Otetal OOOODOOOOODOOOODOOOOOOODOOOODOOOODOOOODOD
gboobooboboobdby=000000D000D0O0ODOODOODOODOODOO 3.1400 OO

Lattice Constant [A]

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAA

\ _oFel5-Cul(relax)

Fel6
©Fel15-Sil(relax)

Energy [eV]

o
$o00000?

O 3.13: Fel6,Fel5-Cul,Fel5-Sil 0000000000 0OO0O

goooooooooooooobooooooooooooooooboooOo0oooooD kOO
0000000 pO0OO000DOO0O0 0000000000000

B =1/2ka? (3.9)
00000000000 000000
dE/dx = F = kx (3.10)

gbobooooobooooboobOoboooooboOoboooooooboooooooboooon
gbooobooboobooboobooooboobooooobooboooon
03.1400000000000000 SiOODoO00oDooOoooce0O0ooooooooooo
0000000O0OOOoOoOoOQoOOODOOOOD 315000becFeloe 000 Cub 100000
o000 SsSigl100000000ooocubsSibod FeO00O0O0O0ODOOODODODOOCuODO
gboooobooboooooboboooooon

0 0 0 0O Fel60O Fel5-Cul(relax)d Cul-Fel4-Sil(relax) 000 000000000000 O0OOO
000ooooo 3160010000000 (0310 y=000000000 310000 0O 3.17
OO0 Fel6eOOCuOOOOOODOOODOOOODOOOODOOODODOOODOOODOOOO
go00o0 sidjoooo0ogoopoooo0ooobooo0oooooboOoUooooDoobo 32000
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L]
)

_Fel15-Sil(relax)

>
LA A L L 21 1 1 1

_~-Fe15-Cul(relax)

283 285 .~ 286 _-
Odi—t 1 2 1.3 5§ o a g s 4 3 ¥ 3 23 %73
A attice Constant [A] .-~ e
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- 5 g ”’,
-4 -
1 : o
-4 i 7% i
i o5 -

’ -
-1.._ "d”
- "

=

- -
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0314100000000

Felé

Tl Ts.__Fel5-Sil(relax)
230 Fe15-Cul(relax) . ~S~o_
220 AR
282 283 2.84 285 288
x
Lattice Constant [A]

0 3.15: 200000000
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Lattice Constant[A]

26 27 28 29 3 31
1164
%"
- \\l
T V5 »Cul-Fe14-Sil(relax)
a4\ %
> 4 \ .6
2 N\ " oFel5-Cul(relax)
\ . o b
B 1 \» ;
3 Felt6
w

o o
°\\ 000000 s’

4 o s
128 4 “ovonocot”

O 3.16: Fel6,Fel5-Cul,Cul-Fel4-Si1 0000000000000

Fel6

.- Cul-Fel4-Sil(relax)

s . Fel15-Cul(relax)
Lattice Constant[ A] il

2.865

0317100000000

0 3100000000000

gooono y=0000000
Fel6 272.52
Fel5-Cul(relax) 223.81
Cul-Fel4-Sil(relax) 227.21
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LA L)

Felé
ceeeemmmeeeeeo. F@15-Cul(relax)

280
] wee o CUl-Fe14-Si1 (relax)
1
2604 “Ta
240
220: ‘\\\
. \-‘\\
zoo: \\‘
2- L] L] L] |2.é2 L] L] L] '2 é4 L] L] L] '2.:w L] L] L] 12 :m L] L] L L] 2'9
x
0318200000000
032 00000000000
ooooo Lattice Constant|[ ]
Fel6 2.83492
Fel5-Cul(relax) 2.85982
Cul-Fel4-Sil (relax) 2.85427
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0000000000000 10000000 V(0300000 #[0]00000000000
330000000007urered Tcuinre J000000 12.538270 000000000 0Hume
Rothery 0 15000000000000000Cu00000000000000000000
000000000000000000000003.100 ()000000000000000
000000000000000Cu0000000000000000000000 310 (b)
000000000000000000000000Fe15-8i10000000000000000
0000000000 rgimpe D 14.48211[0] 0000 rpurere 0000000 8.32954 00000
00000000000000003.1700000000pweFe0000Cu00000000

033 000000000000

00000 00 V[O3/atom] 0000 r[0]
Fel 11.39177157 1.395835533
Cul 16.2364829 1.570849146

00000000ooooooooo s1boooooooopCubboobooo Ssiobooooo
ooooo0ooOoooooo SsibpoooooooOoOOOOOOOOOOOOOOOOOOOO
gboobooobooobooobooooboooooooooboooboo 3200000000000
gboboooooboboooooooobooboooobob e2sboboooobobOon
gboboooboooobooobooobooobobboboobooboobooooooooooooboonDn
goooOoooooooOoOocewOOOO0OoOOoooOoOOoOoOoOoOoOoooOoDOoOoOboOOsSsio
gbooooooboooooboboooboobooo3s3sboboboooooobooooon

3.4.2 POSITIONOODOO

relax0000000C0OOCO FORCEODOOOOOOODDOOOOOODOOOOOOODODO OUT-
CAROODOODOOOOOOOOOOOO

03.1900000pure FeOOOOO beceOOOODDOODOOOODOODODOCheODOODO
0000Z=1/2,2=3/40000 FeOOUOOOOOOUODOOOODOOOODOOUODOOODOOODO
goooO0o0Ooooooo cuObOOO0OOOoOooOODOO0O0OO0OooOooOoOODOOOOno
gbooooboooboooooboooobooboooooan
O000OCul-Fel4-Sil(relax) 0000000 3.2100000Cu0000000000OZ=1/2,Z2=3/4
goo00o00oDO0O0 FORCEODOODOODOOCuDOD SibOoOoooboOopOoooooooo
FORCEOOOOObecOOOOOOOOOOOOOOOOOOODOOOOOUTCAROOOOO
O00D0o0oOooooOoOg POSITIONOO D/ODIYDOOOODO
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O000FOO0O0OO0O0DOODOOOOOODOOOOOOOOOOODOODOODOON 6.1
0000Epure 1000 Til Egijution 00 000000000000 Fw, 0000000000

O00E.O000000000000DOOO000DOOO000DOO0O00O00O0O0000D0O0
gobooboooobobooooobooooogaon

Estack = Epure + ES’.F. (61)
Edilution = Epure + EM + EM—Ti (62)
Ereal = Epure + Esr. + Epp+ Ey—ri + Envi—s.r. (6.3)

ooOooMOOOO0ODOOSF.OO0O0OO0O0 (DOO0ODOOOOOOOOOO)ooOooOooo»-"00
ogooooboooooooooooboooooobobooboEy-rOO00oOoOOO0OO0O0ODOOOO00
0000000 FEy-sp 000000000000 O0O0O0O0O0OO0O0O0O0O0O0 610000000
goboooobooboboooooooboooooooooooooooooooooooboogn
00000 Ey-sr,0000000000000O0OE,.000000000000000' 000

!0000000000000000000000000000000000000 300000000000000
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Epure Edilur_inn

> o
X

Estack Ereal

06l:00000000000000O00O0O0O0OO00O00O0O0

00000000 FOOO0DD0DO000O0O0D0O000000O000000000000000000
Eaitution 100000000

Opwe Ti0 FeO00O0O0O0D0000000O0D0D0310000000000000000000
00000 FOO0O000000 TiDOOOODDO000000000000 3.1(b)0000000
00000000000000000Ti0000000000000000000000000
O0FO00000000000000D0000 Ti0OOOO0O00000044000000000
000000000000000000
00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
0000000000000000000000000000000 Pt,PdRu0000000O0O
0PIOODDO0O0O0O0O0OPdOOOOODOO00O0O0O0 Mo,Ni,Ru,Co,Cr00000000
00000000000000000000000000000000000000000000
0oooooooo
0000000000000000000000000000000000000000 00 Fe
00000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
0000000000000000000000000
00000000000000 « 0000000000000 40000000000000
0000000D0O0Ti0D0000000000000000000000000000000
Mo,V,Nb,Fe,Cr,NiO 0O DODO00000000000000000000000000000
00000000000000000000000000000000000000000000
ooooo Eo
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6.2 00O

6.2.1 c/al0O

gbooobooobooboobooooboooooobobooboooobooooooobooo
gobooobooooooobooobooobooooooooboooboooOobooooobooonooo
0000000000000000 62()00000000000O0ODO0O0OO0O0OO0O0OO0O0
cOO00OO0O0Or000000COOCODOCOODOOODOOOODOOODOOODOOOOOOOODO
0000000000000 000000000O0000O0OU0ODO0OUoOOoUOooOO 6.2(b)oon
gobooobooooobooobobooboobooobooobooobooooooobboobooooooog
62(b)00000000000000O000O0O00O00O0O0OOD0O0O0O0OO0OO0OOOO
goboobooboobooboobooboboooboobooboobobooboobooonboo
goboobooooobooobooboobbooboooobooobooobbbobo0oobOOoooboo
goboobooooboooooobooooboboboobooboooon
000000000000 000 /8/3r0r0000000000000O00OO00O0OOOO0O0OO

2%,
Qﬁg&iﬁi’

00
827

(CAERD

U 62 0000000000000 0DO0O0O0ODOOOOOO

000D0000000000000000000c¢O00 a0000
2% ,/8/3
- 27/7" — /3/3 = 163300 (6.4)
a T
00000 6200000000000000000000 ¢/a00000000

0000000000000 ¢/a=+/8/300000 HeOODOOOOCoO MgOOODOOO
\/8/30 000000000 0UONOBeT,Zr000000O000OOOOODOODOOOODOOOOO
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062 0000000000000000000OOC

oono Be Ti Zr Co Mg He 7n Cd ooo
c/a 1.581 | 1.586 | 1.594 | 1.622 | 1.623 | 1.633 | 1.861 | 1.886 | /8/3 =1.633

Zn0 Ccd000000O0OO0OO0OOOOoOoOoOOOOOOOOOOOOOOCOCOOODOODROBOOOO
gbooooooobooooboooooboooboobooOoooobooobobooobooooooooboon
000000O000Do0o0oooUooo (160

6.3 UUOO

gboboobFreOOD TIOODOOOOOOOOOOOOODOODODODODODOODOODOO
gbooooboobooboboboooooboboboboooboooboooobobooboOobOoono
gbooobooobooo4b0000000000OO0O0DbOO0OOOO0O0ODbOOODOOODbOOnn
gbooobooooobooooobobooobooobOOoobOOoobOOoobooOoOobooOoboooon
goooobooooooooooobooobooobobooboooobooooooooboooboboo
gbboooboooobooooooooooobooobooboooooooboooboboooboooooon
gboooboooboooboooooboooboobooooobooobooboooobooooobooooon
gboooboooooooooooobooobooobooOoooboooooooboooooooboooon
goooobooboooobooobbooobooooobobooboobooboobDbooboobooo
gbooooooooooboobooboobooboboobooooooboooboboooooooaon
gboooobooobooboobooooooooooboooboobooobooOooooboooon
gbobooooboobooboobooboooobooooobooon

64 U0ULOOLOOLOOOOOOOOO

0000000 hepOOO TiOOOOODOODO (xy2z) 000 (3x 3x 3)000000000
00000000000 0000000 540000000 63000000Ti00 100 FeOO
0000000000 640000000 65000000000000000000000000
0000000000000000000FO0000000000000000000000 Ti
000440000 (Zr,Nb,Mo,Tc,Ru) 00 000000000000000000000000
0066000000000000000000000 670000
000000000000000000000000000 MedeAODOODODO4dOO0000
Zr,Nb,Mo,Tc,Ru,Rh,Pd,Ag,Cd 000 00000000000 000000000000000
000000000000 00000000 Orelaxation 000000

0000000000000000000000000000000000000000000
00000000000000000000000000000Orelaxation000000000
pure TiD OO0 ¢/a0000000000O00INCAROODODOOOOOOODODOO0O0O
0,,00000000 14.040,8.850000 90%0110%000000000000000000
025000000000000000000000000000000000000 aO0cO
000000000000
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0 6.3: hepO0OO TiO 3x 3x 3)00000000OO0OODO

0640630 TilOOO FeOOODOOOOODOO
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K/fo\/\; -

e ok
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/\\/ (\/“\\/\ F?H‘IEL (= 7]

065 Tid FeOOOODOOOOODOOOOOO

ge6: 000000000 DOODODOODOOO
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g6rr00b0000000DOO0OOOOOO

000000 INCARO 21500000000000000000

0000 INCAR file d O parameter
PREC = Medium EDIFF = 1.0e-05 LWAVE = .FALSE.

ICHARG= .TRUE. ISPIN=1 LCHARG = .FALSE.
ISMEAR =1 TALGO = 48 SIGMA = 0.2
NBANDS = 300 NELM = 60 NELMIN = 2

LREAL = .FALSE.

6.5 UUOLOOOoon

6.5.1 U00O0OOOOO0OO0OO0

MedeADDODOODOOOOODOO 440000000 Zr,Nb,Mo,Te,Ru,Rh,Pd,Ag,Cd0 00
00000000000000000 630000

063 000004d4d0000000O0O0O0O0O0O0O MedeAODOOOOOO

FeOOOODOO |4d000000 Zr Nb Mo Tc
-425.967969 | total energy[eV] | -426.815382 | -428.223873 | -429.450650 | -429.775928

4000000 Ru Rh Pd Ag Cd

total energy[eV] | -428.922731 | -427.232073 | -424.679583 | -421.026463 | -419.055261
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6.5.2 U00O0OOODOOO0OOODOOO

44200000000000000D00D0OOOOOODODOOOODODODODOODOODO
g00o0oDo0o00000o0ooooboo0ooooDoo0od00relaxation0000000D0ODO
gbodoooboobooooooobooboobooooboooboooooooobooobooon
oooooOo0o0e68000000000OOOOOODAHODODDODOOOOODOOOOOOOO

-418.000
-419.625
-421.250
& metal inTi alloy
# segregation limit
-422.875
-424.500
-426.125
-427.750
-429.375
-431.000
A S o o S S SR S
(9] (] (9] (] [ (] [ (] [ (9]
L . ST - N S N <
S T 2

068 000000000DOO0O0OOODOOOOODOOOOO

gbboobooooobooobooboobooobooboobooboesbobObbOODOOO
gboboooooooooobobooooboobo
0000000000Ti0D00000000000000000 AH°O0 640000000
0000000000o0oooUO0 610000 [11)D 00000O0ODO 6900 610000000
gbeé11000000004420000000000000000000DO00DOO00OODGOOO
goooooobooOooDo pdO CdOOODOOOODOOODDOOODOOODOOO THODO
goobobobobob0obobo0oboobo0on0 1i0 FeOOOODOOOODOOODOOOODOO
goooo0oo0ooOoooooooopooOoOoOoO PdCdOOOoOOOOOOODOOOOOOO
gboooobooboooooboobooooobobooobooboooooono
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0 -0.02920
-0.4
I -0.52931
q -0.8
-1.2
-1.6
1.85954
-2.0
™ o o o o o o o o o
FE E FE E E E E E E E
2 2 & & & & £ & & 2
N2 2 8 2 £ B2 2 3
0 6.9 Fe-TiODOOOOODOOOO
064 XinTiDOODOODOODOOOOOO
X Fe Y | Zr | Nb | Mo | Tc Ru | Rh | Pd | Ag | Cd
AH°[kJ/mole of atoms] | -33 | +73 | -1 | +8 | -14 | -153 | -169 | -204 | -260 | -6 | -133
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ooobooooobooooooo0ooobbbo0ogon FeOo TiODOOOODODOOOODOO

| @ EER{B(liquid) ® EtE({B(solid) |

BRSaN -
I\
Ny A

Cd

Fe Zr Nb Mo Tc Ru Rh Pd Ag Cd

0 6.11: Fe-TiODODOOOOOODOOOODODOOOODODO

000 TiDO0O000000000 000000000000 0000000000000000
00000000000000000000000000000000000F00000000
00000000000 O0000000000000000FO0000000000000O0OO
0000000000Zr 0 NbAg,CdOOOD 000000000000000 Mo,Te,Ru,Rh,Pd
00000000000000000000000000000000000000044d000
000000z 0NbOOODOOOOOOOOOOODOO0O0OOO0O00000000000000
000O00000AgD Cd000O0O0Zr0NbOODOOODODOOOOOOODO000O0O00O0
0000000000000000%r,Nb,Ag,CdOOOD0D000000000000

6.5.3 UU00O0OO0al0OcO

a0 cO00000DDOO0OD 200000000000000000000PureTiDOO
gboooel200000000000000COO0ODODOOOOOOOOOOOOODOOOOOO
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00000000 a0,c0,c/a00,0000000000 650000000000 0pure TiO
0000 c¢/al00 1561657900 0000000000000 15860 00000000000
gboboooooboooooboooobooboooobooon

O TiO FeOOOOODODOOOODOODOOOODOOOOOO Zr,Nb,Mo,Tc,RuOOODOOOO

-7, 2%

=7, 3
-7, 4%

- 5%
~7. 68

-7. 78]

-1 EE‘

0 6.12: pure TiO O ¢/a0000

65 pure TiDODOOOOOOODOODOO

al [0] cO [O] c/al0 | 0000D0Iev] |10000000000 [eV]
8.938990486 | 13.95964511 | 1.561657900 | -425.5652207 -7.88083742037

gbooooobooboobobo 200000000000 oo0oobo0oboboobooooon
g000oooooooooooooooobe6s0dODDOOD fiistDO00OOO0OODODOLODO
00000000O000Db000O0second00000000O00DODOOODOOOODODOOODO
gboooobobooooge1300 6.1400 6.1500000

Opure TiOl FeOOOOOOOOOTiOO FeOOOOOOOOOOOOOOODOOODOOOO
gooono 957.7318608[;13]DDDDDDDDDDDDDaDDDDDD cOOO0OOooDboon
g0000000000O0O0000DbO0FeD 000000000 0ODOODTiO hepOOODO
gooooo0ooooobooooooo0ooooooooooobD4dboO0oOoOooOobOoOOoDOD
goo0oO0oO0oOoo0oo00ooO00ooOoOobOO0o0obobDzZzrd NDOOOODOOODOOOFe
gbbooobooobooobooboobooobooboboooooooboobooobooon
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0 66:4d0000000000OD0O0OO0OO

oooooon al [4] cO [4] 00 [4% | 00000 [eV)
pure Ti(Ti54) 8.938990486 | 13.95964511 | 966.0107499 | -425.5652207
FelTi53 8.918215053 | 13.90456550 | 957.7318608 | -425.0608729

Zr1FelTi52 first
Zr1FelTi52 second

8.927551605
8.925101027

13.96975170
13.97727779

964.2375881
964.2274919

-425.6783512
-425.6766841

NblFelTi52 first
Nb1FelTi52 second

8.908278918
8.909598838

13.95824000
13.95412588

959.2877657
959.2892289

-427.1208101
-427.1250383

MolFelTib2 first
MolFelTi52 second

8.893105078
8.898604986

13.94726150
13.92998823

955.2706246
955.2680190

-427.6125669
-427.6178403

TclFelTi52 first
TclFelTi52 second

8.884306185
8.893185790

13.93984535
13.91173878

952.8743189
952.8549113

-427.4877174
-427.4882993

RulFelTi52 first

RulFelTi52 second

8.879674466
8.889886166

13.93866570
13.90591431

951.8004880
951.7493314

-426.6639182
-426.6580835

[A%]

968.000

965.429
962.857
960.286
957.7 14
955.143
952.571
950.000

pure Ti
FeTi

ZrFeTi
MbFeTi

MoFeTi
TeFeTi

0 6.13:4d0000000 Fe-TiOODOODO
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FeTi

pureTi
ZrFeTi
NbFeTi
MoFeTi
TcFeTi
RuFeTi

0 6.14: 4d000000O0 Fe-Tid aOOO

pure Ti
FeTi
ZrFeTi
MbBFeTi
MoFeTi
TcFeTi
RuFeTi

0 6.15:4d0000000 Fe-TiO cOODO
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gboooooboooobooooobobooboobobooboOoooobDOoUbD reoboobooboOoO
gbooooboobooooboooooon

b0 a00cOOOO0OO0OO0OO0OO0OOOODOOODOOOOODOOODOOODOOODOOOOObOOODn
O0a00cOO000D0OO0O0O00DOOODOOOOODOOODOOODODOOODOOODOOODO
O0000oOOo0O0O0O0O0000Zr000second000 first 000 a00000cO000000O
O00RuwDOOOOO0ODOOOOODOOOOOODOOOOOOOOOODOOOOOODDOOO
gbobooboobo0oeocsOOdDODODOOODOODOODOa00O0OO0O0OO0O00D0OO0DOOOOCcO
gboooobooboobooobooboobobobe7T0bO0bOOOODOODOOaODbDOO
0000000o0oooooooooooooo0o0000D RuODOODO firsstd ab00O0O0OO
O00Osecond D cOOO0O0O0DOOOOODOOO
go0ooOooOOooO00oOooO00oooOozZzr0 NbOOOOODOOOFeOOOODOOOODO
obo0o0ooooboooobDOoboooooDoOoboOoOn Mo, Tec,RuDOOOODODOOODO Fe
gbooooboboooboooooboboooboobooon

6.5.4 UO0OO0O0OOOOO

obooooboooobooobooboooboooooboooboooooooobobooooOooonn
gooooboooboobooboooooo s2000b000oooobooobooooooobooon
gooboooobooooobooob0ooooO TiboooooboooooooooooooDo
gbooobooooboooboobooboobobooobobooooooobooobooobooon
gbobooooobooboooboobooooobobobooboobooboooonoo

6.6 0U0OO

000000OFeODOO TiOODODOODOOO4d0O0000DOO0OO0ODOODOOOODOODOOOO
0000o0000oooo00ooo0oooooooooooooo0oooooooDoOoOoOooDo
ZrNb,Ag,CAOOO00O0OODOO0ODOOO0OODOOOODOOOOOO ZrO NDOODOOO
00000000ooooDOo0o00o0ooO000oooO0U0oDooO0oDoO00 Zr0O0O0O0OO
0ooooooooooooooog
00000o0ooooo000ooooooooo000ooooooooooooooooooo
0000ooooooooooovASPOOOOOOO0OOODODOOOOOOOODODODOOOOO
oooooogod
000000000000 0000DO000O000O0DOD0O0O0Orelaxation0000O0O0OOOO
000oo00ooo0ooooooodoooooooooooooooooooooooog
4d00000000000000D00C0000D00O0000DOO0000DOO000O0d0FeOO
0000oooo0o0000oooooo00oooooooo0ooooDooo0ooooooooo
O0F 000000000 DODOODODODOODODOOD0O0D000OOrelaxationO000000
g0do0ooooooo0o00ooooooooo0oU0U0ooo0oooogooooooDooo
000000 DOrelaxation loop 00 000O0O0O0D0O shapeO0OOOO00OO aO,cO,00000
000000000000 000O0D00D00OD0O0ISIF=1lor200000 relaxation 000000
0000000000000 D00 RwOO0OO0ODODODOODOODOOOOOO Rh,Pd,Ag,CdOO
g0oo0oooooooooooo0o0ogoooooopooooo0goooooDooooOoOogo
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goooooboboooboooboobboobboooooobobooooboooboobDooboboOooDo
goooooooooooobo0o0o0oOb00 B O00000DODOO0O0ODO0ODDOO TiOODO
FeOOOOOOOODOOOOOOO
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070 OO

obobooobooboooob0oOg Fe00ODO TiOODOOOOODOODOOOODOOOOODO
gobooooooooo

1. OFe00 CuO0O00000000O0ODODOOOOCCOOOOOO0O000 FeOO CuOO
SidddooooooooooocuOOOO Sidoo FeOOOOOOOOOOOOFeO
Cul000000O0O0O000DC0OOO0O0O0OOCkuO00O0O0O0OUOO 1254%00000000
oobobooooobo 3200b0000boboooooobooooobooobooobobonDog
oo00O0O000O0O0O0000ooOoooOoOOO000 cu000OO0OO0OO FeOOOOOO
O00O0000oooOOoOoOoOoSiof00dno FreO0O0OOOO0OOOQOOOOOOChWOOO
ooopooo sigoooo0oooobooooooDooooooDoon

2. 0re0000D00000O0ODOOOOOOOOODODOOOO3dODO0OO0O FeOOOO
goooooooooooooooogooooo0 F—-VOoOOOoOoooD E-vDOOO
obooobooobooboooobooooboooobooboooboooboooboboboobooog
oboooboboooooooooooooooooooooooooooOoboreooooog
d0fdfooooooooo0oooooooooobo0ooooooooDooobooDoObOnD
gboboobo44000Zn000000000DOO0DOO0ODOODODOODOOOOOOOOO
gbooooboobboooooooobobooboooboooboobboooooooDoooooDo
gbobooboobooooboobooboooboooobooooboobooboooog
gbooboooobooboobooooboooboooboooobooboOooooboooaon
obooooOooooobooboooboooobooboooooboooobboboobooog
gbooobooobooobooobooooobooooboobooboooooooboooboobooo
gooooao

. uTibobobooobooboooooooboobooboooooooooooobooooooon
O00Ov-surface 000000000000 000 v-surface0000000 5100 5.6(b)
O000000000 vswface00 0000000000 OOOODOOO 1000000
000000000000 00000000000oOo0OoUs.6(b)0 VASPOOOOOOO
obooobooobooboooboooobooobooboooooboboboobooboobooo
goooobooobooooobbooobooooobooboooboobobobooboooobooo
OO0FO (stable fault) 0000000000000 OOOO0OOOOOOOOOOOOOO
oorbooboooboooocoboooboobooooocobooboooboobooOob FOoOOO
00000000000 2/30000000000000000000000O0O0O00OO
000000000 hepOD TiOOODOOODDOOODOOOOODOOODODOOOO
gbooooooooboo
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4. 0440000000000 TiOODOODOOOODOOTiODOOOOOOO FeoOooo
00000000 00FeO00D0 TiOOODOODOOOO0OO0ODOOOFeOOO0ODODOOOO
o0oooooooooooooboooTiooooOOObO0O00004d00O0oOon FeOOd
goooboobobooobooooboooobooboooobooooboboooboobooo
0000000000000 0O0O0O0O0U0O0OO MedeADDODOOOOOOOODODOOO
ooooooOoOoOoOogeoOOOOOAHOOODOO Zr,Nb,Ag,CAOOOOOOOOO
oboooobobooobOOobooboobobooobOobooOo0ob0o0o0oOon0TiOo Fed
goooo0obOooooooooooOoooOooTioooooooooooDOobo4dnoOO
ooooO0OoOoO0oO0o0oOoooooOooOo0o0ooOooooooOooo0oO0O0Ze,Nb,Ag,CAOOOO
obooobbo Tiobooboooboooooboobooboobooboob Tiboooa
gooooooooo0oOooooooogobPdecdo0boboOoOobOOoOoooDOoDObOOOnO
oooooooooboooboooboobooooboooooboboboobobooobooogoo
O066000000000000O0pure TiOOO0OFeOOOOOOOOOOO0DOOOO
00000000000 zr0 NDOOOOOOOOOOOODODOODOODOODOOOO
goooooooooooOoooooO0oOoooooooooozZze NbOOOOODODOOO
obooobooobooooboooboobooooboooboobDOoooDO0o0D Zr0 FeO OO
TidooooOobooooobobooooobooooooboooobooboooo

gooooooooooobooooooobobobobobDooooooobooobooboDbo
gbobooooboooobooobooobooobooooboooboooobooboobooobooobooDbn
gbobooooobooobOoooooboooboOoobOoooOobOooboboobooobooobooDn
goooobooooboooooooobooobobooooooobooooboobooboooboobboo
gbbooobooooobooobooboobooboobooboooboobobooooboonDn
gboooboooobooooooobooboobooooboooboobooobooooobooooon
gboboooooooooobobooooboobo

gooooooboogooooooooobooboooooooboobooobboobooooboobbooo
gbobooobooobooobooooboooboobooboooooooobooobooooboooon
gboooooboobooobooobooooooooooobOoooboobooOooboOoooboooon
gbobooooooooooboooobobo
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0 OA 00O (00O Maple script)

Al 000OD0OOOOO(E-V)ODOGOooo

> with(Maplets[Examples]) :

Warning, the protected name LinearAlgebra has been redefined and unprotected
> filel:=GetFile();

filel := "/Users/atsushi/Desktop/GraduationThesis/data/pureFe/Fel6(detail)"
> file2:=CGetFile();

file2 := "/Users/atsushi/Desktop/GraduationThesis/data/Fe-Cu/Fel5-Culrelax"
> file3:=GetFile();

file3 := "/Users/atsushi/Desktop/GraduationThesis/data/Fe-Cu-Si/Cul-Fel4-Silrelax"
> Tl:=readdata(filel,2):

> T2:=readdata(file2,2):

> T3:=readdata(file3,2):

> with(plots):

Warning, the name changecoords has been redefined

pll:=pointplot(T1):

p21:=pointplot(T2):

p31l:=pointplot(T3):

with(stats):

with(linalg):

V V V VvV V

Warning, the protected names norm and trace have been redefined and unprotected

> datal:=convert (transpose(T1),listlist);

> data2:=convert (transpose(T2),listlist);

> data3:=convert (transpose(T3),listlist);

datal := [[2.58030, 2.72365, 2.78099, 2.79533, 2.80966, 2.82400, 2.83833,
2.85267, 2.86700, 2.88134, 2.89567, 3.01035, 3.15370], [-121.8504900,
-131.1868800, -132.2881900, -132.5765500, -132.5377500, -132.7408500,

-132.6933500, -132.5862600, -132.6841800, -132.4582900, -132.1698800,

-129.0763300, -122.7176700]1]
data2 := [[2.58030, 2.72365, 2.80966, 2.82400, 2.83833, 2.85267, 2.86700,

2.88134, 2.89567, 2.91001, 2.92434, 3.01035, 3.15370], [-116.3863300,
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-125.7861800, -127.5421700, -127.6503000, -127.7063800, -127.7380100,

-127.7124200, -127.6571200, -127.5742900, -127.4318800, -127.2702600,

-125.6983200, -121.0591800]]
data3 := [[2.58030, 2.65198, 2.72365, 2.78099, 2.80966, 2.82400, 2.83833,

2.85267, 2.86700, 2.88134, 2.89567, 2.91001, 2.92434, 3.01035, 3.08203,

3.15370], [-114.9654200, -120.8616700, -124.3261200, -125.6601900,

-125.9569800, -126.0426900, -126.0836200, -126.1027100, -126.0654100,

-125.9969600, -125.8967400, -125.7339700, -125.5456500, -123.7855100,

-121.5970500, -119.0924500]]

#datal:=convert (transpose(convert(pll,array)),listlist):
fitl:=fit[leastsquare[[x,y], y=cO+cl*x+c2*x"2+c3*x"3, {c0,cl,c2,c3}]](datal):
f1:=unapply(rhs(fitl),x);

#data2:=convert (transpose(convert (p21,array)),listlist):
fit2:=fit[leastsquare[[x,y], y=cO+cl*x+c2*x~2+c3*x"3, {c0,cl,c2,c3}]] (data2):
£2:=unapply (rhs(fit2) ,x) ;

#data3:=convert (transpose(convert(p31,array)),listlist):
fit3:=fit[leastsquare[[x,y], y=cO+cl*x+c2*x~2+c3*x"3, {c0,cl,c2,c3}]](data3):
£3:=unapply(rhs(fit3),x);

V V V VvV VvV V V V V

2 3
x —> 3614.483573 - 3579.130078 x + 1126.254771 x - 116.4046872 x
2 3
x —> 3459.376833 - 3442.959797 x + 1092.002616 x - 114.2376120 x
2 3
£3 := x -> 3400.589279 - 3382.564467 x + 1071.487385 x - 111.8657839 x
pl2:=plot(f1(x),x=2.58030..3.15370,color=black,linestyle=1):
p22:=plot (£f2(x),x=2.58030..3.15370,color=black,linestyle=3):
p32:=plot (£3(x),x=2.58030..3.15370,color=black,linestyle=4):
display(p1l,p12,p21,p22,p31,p32);

Hh
-
]

vV V V V Hh
N
]

\4

d1:=unapply(diff (£f1(x),x),x);
> d2:=unapply(diff (£2(x),x),x);
> d3:=unapply(diff (£3(x),x),x);
2
dl := x -> -3579.130078 + 2252.509542 x - 349.2140616 x
2
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d2 :

x —-> —3442.959797 + 2184.005232 x - 342.7128360 x
2
d3 := x -> -3382.564467 + 2142.974770 x - 335.5973517 x
> fsolve(d1(x)=0,x=2.58030..3.15370);
fsolve(d2(x)=0,x=2.58030..3.15370);
> fsolve(d3(x)=0,x=2.58030..3.15370);
2.834917476
2.859815629
2.854268161
pdl:=plot(dil(x),x=2.830..2.865,color=black,linestyle=1):
pd2:=plot(d2(x),x=2.830..2.865,color=black,linestyle=3):
pd3:=plot(d3(x),x=2.830..2.865,color=black,linestyle=4):
display(pdl,pd2,pd3);

\4

vV V V V

\4

dd1:=unappl!y(diff(d1(x),x),x);
dd2:=unapply(diff (d2(x),x),x);
> dd3:=unapply(diff (d3(x),x),x);

ddl := x -> 2252.509542 - 698.4281232 x

dd2 := x -> 2184.005232 - 685.4256720 x

dd3 := x -> 2142.974770 - 671.1947034 x
pdd1:=plot(ddi(x),x=2.58030..3.15370,color=black,linestyle=1):
pdd2:=plot(dd2(x) ,x=2.58030..3.15370,color=black,linestyle=3):
pdd3:=plot(dd3(x),x=2.58030..3.15370,color=black,linestyle=4) :
display(pddl,pdd2,pdd3);

\4

vV V V V

pdd4:=plot(dd1(x),x=2.8..2.9,color=black,linestyle=1):
pdd5:=plot(dd2(x),x=2.8..2.9,color=black,linestyle=3):
pdd6:=plot(dd3(x),x=2.8..2.9,color=black,linestyle=4):
display (pdd4,pdd5,pdd6) ;

VvV V V V

A2 TiODOooooOoOooboboooobog

TioO0OODOOOO0OO0OOOoPOSCAROOOOOOOOOOOUODOOOOOOODOOOOODOOO
O0POSCAROIUIUIODODOOOOOOOOOOOOCOOOOOOOOUOUOOOOSHELLODOO
gbh12100000000000b0000000000

> restart;
>N := 22; Cell := (1/2)*N;
> DisplaceSlab := proc (dxl, dyl, N1, N2)
local i, j, x0, x1;
global N;
for i from N1 by 2 to N2 do
x0 := [1/3, 2/3, (1/2)*(2*i-1)/N];
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x1

pr
if

en
end do

:= [2/3, 1/3, (1/2)*(2*i+1)/N];
intf ("%10.5f %10.5f %10.5f F F T\n", xO0[1]+dx1, x0[2]+dyl, x0[3]);

i = 17 then

printf ("%10.5f %10.5f %10.5f F F T\n", x1[1], x1[2], x1[3])

else printf("%10.5f %10.5f %10.5f F F T\n", x1[1]+dx1l, x1[2]+dyl, x1[3])
d if

U end proc;

>dx :=0
> Displace

Displac

Displac

writeto
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667
.33333
.66667

O O O O O O O O O O O O O O O O O o o o o o

#00000
> for dx f

for

.; dy = 0.;

Slab(0, 0, T[1], T[21);
eSlab(dx, dy, 7, 17);
eSlab(0, 0, 19, 21);
(terminal); interface(quiet = false);
0.66667 0.02273 F F
.33333 .06818
.66667 .11364
.33333 .15909
.66667 .20455
.33333 .25000
.66667 .295645
.33333 .34091
.66667 .38636
.33333 .43182
.66667 ATT27
.33333 .52273
.66667 .56818
.33333 .61364
.66667 .65909
.33333 .70455
.66667 .75000
.33333 .79545
.66667 .84091
.33333 .88636
.66667 .93182
.33333 97727

O O O O O O O O O O O O O O o o o o o o o
O O O O O O O O O O O O O O O O O O O O O
LT I T T T T R T T - T R T T T - T T T T I
LT I T T T T R T T R T T T T T TR R TR T I 51
H HH 9344394 4a43944a4a94d4ad4944d43a493 a4 +4d 4

oboboo21000boobooobooboobooboboboooo
rom O. by .1 to 1.0 do
dy from 0. by .1 to 1.0 do
print(dx, dy);
DisplaceSlab(0, 0, 1, 5);
DisplaceSlab(dx, dy, 7, 17);
DisplaceSlab(0, 0, 19, 21);
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end do

end do;

A.3 g-surface 0

#

#
>
>
>

\4

gooooooo

GetFileUUOUOUOO DataO O DO OO

restart;

with(Maplets[Examples]):

filel:=GetFile();
"/Users/atsushi/Desktop/Ti/Ti22xhalf"

restart;

filel := "/Users/atsushi/Desktop/Ti/Ti22xhalf";
"/Users/atsushi/Desktop/Ti/Ti22xhalf"

> T:=readdata(filel,1):

+H+

vV VvV # #

V V V V VvV VvV V V V V V

vV VvV # #

withOOODOOODOOO LinearAlgebra DU O 0OUOO0OOrestart U OO0 OONO

gooooo
do0o0doo00odoodooDooooooooooooo10booooooa
with(plots):
DD:=11;
11
p2:=[1;
jj:=1;
for j from 1 to DD do
pl:=01;
for i from 1 to 11 do
pl:=[lop(p1),T[jj1/22];
T[jj1:=T[jj1/22;
J3+=33+%
end do:
p2:=[op(p2),p1]l;
end do:
[]
1
listcontplot3d(p2,axes=box,orientation=[126,44] ,filled=true);

x,youoono
x0y00000
x:=[1;
y:=[1;
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V V V V VvV V

vV V VvV VvV

V V V V V V V V V %=

V V V V vV VvV V V V V V V =

#
#

for i from 0 to DD-1 do

for j from O to 10 do
x:=[op(x),evalf(i/10,2)];
y:=[lop(y),evalf(j/10,2)];

end do;
end do;
(]
(]
z:=T:
with(LinearAlgebra):

p2:=convert(Transpose (Matrix([x,y,z])),listlist):
pointplot3d(p2,symbol=circle,symbolsize=30) ;

hepO OO
X1:=Vector([2.554775,-1.475]);
Y1:=Vector([0,2.95]);
p3:=array(p2):
n:=nops(p2);
for i from 1 to n do
vl:=convert (p2[i] [1].X1+p2[i][2].Y1,1list);
p3li,1]1:=v1[1];
p3l[i,2]:=v1[2];
end do:

121

ooooooooog

for i from 1 to n do

if p3[i,2]1<0 then
p3[i,2]:=p3[i,2]+2.95;
end if;

end do;

for i from 1 to n do

if p3[i,2]>2.95/2 then
p3[i,2] :=p3[i,2]1-2.95;
end if;

end do;

p4:=convert (p3,listlist):
pointplot3d(p4,symbol=circle,symbolsize=30);

gooaod
UO00000DOpointplot3ad DU DO OODOODOODOODOODOOListlist 0 O0OOODOONO

listplot3d O OO0
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>
>

[_

V V V V V vV VvV VvV V V V V V VvV V

\4

with(stats):
y_point:=[seq(-2.95/2+2.95/10%i,1i=0..10)1;
1.475000000, -1.180000000, -0.8850000000, -0.5900000000, -0.295000000, O.,

0.295000000, 0.590000000, 0.885000000, 1.180000000, 1.475000000]
k:=1;zzz:=[];
for i from 1 to DD do
xx:=[1;yy:=00;2z:=[1;
for j from 1 to 11 do
xx:=[op(xx),p3[k,2]];
yy:=Lop(yy),p3[k,31];
k:=k+1;
end do;
el:=fit[leastsquare[[s,t],t=a+b*s+c*s~2+d*s"3+e*s"4,{a,b,c,d,e}]] ([xx,yyl);
f1:=unapply(rhs(el),s);
for j from 1 to 11 do
zz:=[op(zz) ,f1(y_point[j1)];
end do;
zzz:=[op(zzz) ,zz];
end do:
1
(]
listcontplot3d(zzz,axes=boxed,orientation=[-60,60],filled=true);

A.4 c¢/a000 Fitting

#0Oooooooo
#GetFileOUODOOO DataODOOODOO

>
>

VvV V V V V

restart;

with(Maplets[Examples]):

filel:=GetFile();
"/Users/atsushi/Desktop/Titanium/Zr1FelTib2first"

restart;

filex := "/Users/atsushi/Desktop/Titanium/hcp-337a";

filey := "/Users/atsushi/Desktop/Titanium/hcp-337c";

filez := "/Users/atsushi/Desktop/Titanium/Zri1FelTi52first";

"/Users/atsushi/Desktop/Titanium/hcp-337a"
"/Users/atsushi/Desktop/Titanium/hcp-337c"
"/Users/atsushi/Desktop/Titanium/Zr1FelTib2first"
Tx:=readdata(filex,1):
Ty:=readdata(filey,1):
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>

Tz:=readdata(filez,1):

#with OO UODOODOOOD LinearAlgebraU 0D UOO0OOOrestart U OO DOODOO

#ta-c OO 0O
#0000 0000000000000on

>
>

V V V V VvV VvV V V V V V

>

with(plots):
DD:=5;

p2:=[1;
ji=1;
for j from 1 to DD do
pl:=01;
for i from 1 to DD do
pl:=lop(p1),Tz[jjl1];
T[jj1:=Tz[jjl;
J3+=33+%
end do:
p2:=[op(p2),p1]l;
end do:
[]
1
listcontplot3d(p2,axes=box,orientation=[126,44],
axesfont=[HELVETICA,BOLD, 12],labels=[a,c,Energy],
labelfont=[HELVETICA,BOLD, 15],filled=true);

#0UOODOOOO FittingUQ OO QOO
#0 00000000

>
>
>
>
>
>
>
>
>
>
>
>
>
>
>

with(combinat,permute) :with(plots) :with(stats) :with(LinearAlgebra) :with(linalg):

x:=arrayl[]:

y:=arrayl[]:

for i from 1 to 5 do
for j from 1 to 5 do

x:=[op(x),Tx[i]];

end do:
y:=[op(y),op(Ty)];
end do:

listl:=[]:

z:=[1;

for i from 1 to 25 do
list1:=Tz[i];
z:=[op(z),listl];

end do:
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> data:=[x,

y,zl;

(]

[[7.9650, 7.9650, 7.9650, 7.9650, 7.9650, 8.4075, 8.4075, 8.4075, 8.4075,

8.4075, 8.8500, 8.8500, 8.8500, 8.8500, 8.8500, 9.2925, 9.2925, 9.2925,

9.2925, 9.2925, 9.7350, 9.7350, 9.7350, 9.7350, 9.7350],

14.0400, 14.7420, 15.4440,
12.6360, 13.3380, 14.0400,
14.7420, 15.4440, 12.6360,
-401.97754, -409.30502, -413.
-422.23651, -422.73603, -421.
-423.71960, -419.84979, -422.
-412.47935, -418.03076, -416.

[[7.9650, 12.6360, -390.48712],

[7.

(7.

[8.

[8.

[8.

(8.

(8.

[9

[9

[9

9650,

9650,

4075,

4075,

8500,

8500,

8500,

.2925,

.2925,

.7350,

14.

15

13.

14.

12.

14.

15

13.

14.

12.

0400,

.4440,

3380,

7420,

6360,

0400,

.4440,

3380,

7420,

6360,

-409.

-414.

-418

-422

-421

-425

-419

-423

-417

-418

12.6360, 13.3380, 14.0400,

14.7420, 15.4440, 12.6360,

[12.6360, 13.3380,

14.7420, 15.4440,

13.3380, 14.0400,

41328, -414.96883, -411.47331,

13821, -421.24806, -424.99238,

68885, -423.36290, -421.69514,

26481, -412.57052, -407.27890,
> p:=convert(Transpose(Matrix([x,y,z])),listlist);

30502], [7.9650, 14.7420,

96883], [8.4075, 12.6360,

.78477], [8.4075, 14.0400,

.73603], [8.4075, 15.4440,

.24806], [8.8500, 13.3380,

.67349], [8.8500, 14.7420,

.84979], [9.2925, 12.6360,

.36290], [9.2925, 14.0400,

.92631], [9.2925, 15.4440,

.03076], [9.7350, 13.3380,

79

-413.

-411.

-422.

-421.

-424.

-423.

-422.

-421.

-412.

-416.

13.3380, 14.0400, 14.7420, 15.4440], [-390.48712,

-418.78477,

-425.67349,

-417.92631,

-400.68060]1]

[7.9650, 13.3380, -401.97754],

41328],

473317,

236517,

13821],

99238],

71960],

68885] ,

69514],

47935],

264817,



[9.7350, 14.0400, -412.57052], [9.7350, 14.7420, -407.27890],
[9.7350, 15.4440, -400.68060]]
#0O0ODO0DODOoDOoOo0ooooooo
> pp:=pointplot3d(p,symbol=circle,symbolsize=30,color=black):
> display(pp);
#0000Fitting000a-c0000000D0QC0OO0O0ODOOO0ODDOOOODOOOOODOO
> data:=[x,y,z];
> fitl:=fit[leastsquare[[t,s,u] ,u=atb*t+c*s+d*t*s+ext"2+f*s~2,{a,b,c,d,e,f}]1] (data);
[[7.9650, 7.9650, 7.9650, 7.9650, 7.9650, 8.4075, 8.4075, 8.4075, 8.4075,
8.4075, 8.8500, 8.8500, 8.8500, 8.8500, 8.8500, 9.2925, 9.2925, 9.2925,
9.2925, 9.2925, 9.7350, 9.7350, 9.7350, 9.7350, 9.7350], [12.6360, 13.3380,
14.0400, 14.7420, 15.4440, 12.6360, 13.3380, 14.0400, 14.7420, 15.4440,
12.6360, 13.3380, 14.0400, 14.7420, 15.4440, 12.6360, 13.3380, 14.0400,
14.7420, 15.4440, 12.6360, 13.3380, 14.0400, 14.7420, 15.4440], [-390.48712,
-401.97754, -409.30502, -413.41328, -414.96883, -411.47331, -418.78477,
-422.23651, -422.73603, -421.13821, -421.24806, -424.99238, -425.67349,

-423.71960, -419.84979, -422.68885, -423.36290, -421.69514, -417.92631,

-412.47935, -418.03076, -416.26481, -412.57052, -407.27890, -400.68060]]
u = 2588.228931 - 448.7889413 t - 144.6860456 s + 8.284969307 t s

2 2
+ 18.65292926 t + 2.531238783 s
> f1l:=unapply(rhs(fitl), (t,s));
(t, s) -> 2588.228931 - 448.7889413 t - 144.6860456 s + 8.284969307 t s

2 2
+ 18.65292926 t + 2.531238783 s
> pfl:=plot3d(£f1(tt,ss),tt=7.5..10,ss=12..16,axes=box,filled=false):
> display(pfl,pp);

#Fitting OO OOODO0ODODO0O (a,c) 00000000 OCO000ODOOC0OO00ODDOOOE
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eql:=diff(f1(s,t),s)=0;
eq2:=diff (f1(s,t),t)=0;

-448.7889413 + 8.284969307 t + 37.30585852 s
-144.6860456 + 8.284969307 s + 5.062477566 t

kai:=fsolve({(eql,eq2)});

{t = 13.96975170, s
13.96975170/8.927551605;

8.927551605}
1.564790921

aal:=f1(8.927551605,13.96975170) ;
-425.6783512
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0 OB 00O (00O SHELL script)

ggbooboobobobobbobboobboboobooboaobooboaoboaonoaa
U000D0aswra00OO0O0OODOOO

B.1 000O0OOoOnd

#!/bin/csh -f
set Values=(O
"0.9"0
"0.95"01
"1.o00"0
"1.05"0
"1.1m)
echo "START calc" > res.all
Q@ index=1
while (${index} < 6)
sed "s/#SCALE/$Values[$index]/g" POSCAR.orig > POSCAR

/usr/local/mpich/bin/mpirun -np 4 -machinefile machines /usr/local/vasp/vasp4628mpi

O
>> res.all
echo "#BOB SCALE =" $Values[$index] >> res.all
@ index++

end

B.2 TiODOOoOOoOoOoOoooOODeohUdlbobobobObOOoOOond
0O

#!/bin/tcsh -f

set Values=(\

"48.90600000"\

"50.45050000"\

"51.48000000"\

"52.50960000"\

"54.05400000")

echo "START calc" > res.all

echo "FINAL energy" > res.energy
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echo "POSITION" > auto.POSCAR
set i_final=$argv[2]
@ i_final += 1
set j=$argv[3]
set j_final=$argv[4]
@ j_final += 1
while (${j}<${j_finall})
sed "s/ytrans/${j}/g" test.maple > test.maple2
set i=$argv[1]
while (${i}<${i_finall})
echo "#TRIAL" ${i} ${j} >> res.all
echo "#TRIAL" ${i} ${j} >> auto.POSCAR
sed "s/xtrans/${i}/g" test.maple2 > test.maple3
/usr/local/maple9.5/bin/maple < test.maple3
cat POSCAR.fore > POSCAR.orig
cat result >> POSCAR.orig
cat result >> auto.POSCAR
@ index=1
while (${index} < ${#Values} + 1)
sed "s/#SCALE/$Values[$index]/g" POSCAR.orig > POSCAR

/usr/local/mpich/bin/mpirun -np 4 -machinefile machines /usr/local/vasp/vasp4628mpi

O
>> res.all
echo "#BOB SCALE =" $Values[$index] >> res.all
@ index++
end
grep -B 7 "#BOB" res.all > res.all2
grep "F=" res.all2 > res.all3
awk ’{print $3}’ res.all3 > res.all4d
echo "#TRIAL" ${i} ${j} >> res.emergy
tail -5 res.alld4 >> res.energy
Q i++
end
@ j++
end

B3 E-vOOOooouododoooood

ysurface 000000050000 E-vOOOOOOOOODOOOOOOOOOOODOOOO
gobooooboobbooooboooonboi12100000000000000000000 1210
0000000000000 0000000000000000000 A1l0O0OoOoooo

#!/bin/tcsh -f
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echo > zurashi.ener

@ meny=1

while (${meny} < 11)

@ menx=1

while (${menx} < 12)
grep —-A 5 "#TRIAL ${menx} ${meny}" res.energy > pre.data
tail -5 pre.data > tenten
cat res.scale > data
cat tenten >> data

/usr/local/maple9.5/bin/maple < maple

echo "#TRIAL ${menx} ${meny}" >> zurashi.ene
cat kyokusen >> zurashi.ener
@ menx++
end
@ meny++
end
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JO0OC DO(@ODoOoD)

C.l1 0000DbOOoobOoobOoloobooboobooboon

00000000000 000000000000000000000000 (x)000000
0 (V)0Dooo
=V (C.1)

00000000 Vre—c, 0 Ve 0OOODOODOO

15
VFe—Cu = EVFe + VCu (Cz)
HRERN
15
VCu = VFefcu - EVFE (C3)

00000000000 Veeecu 0 Ve 00000000000V, (Fe-CuO0O CuO00)00
000000000
0000 ()00000

4
V:§T[7"3 (04)
goooooo
4/ 3V
"=\l (C.5)

gobooboboogoviooooobooboooooboboooooo

C2 0O0OUOOOODbDOO

160000000000000 Ve OOODOODOODOODOOO0ODOO00D0O00D0D Vxinre
OOFels0 000000000000 DOOODOO0ODOO0O0OOO0O0ODOO Felb00noOoonoog
O0o0ooo0o00oobo0o0 XxXooooo

X = Vxinre — 15/16 x Vge (C6)

O00000 XO0OO0DAOOODODOOO)0DO0000000O0Oee(0D0O000000)0O
000000O00ooOoon
1[A3] = (1078)3[cq] (C.7)

oo0oobOooooboooboonboOo xoo

X[A%] = X Hed] (C.8)
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0000000000000000 1[mel] 0000000000 (6.02x 1028[/mol]) 00000
00000000V, 00000000000

V. = X e x 6.02x 10%3[/mol] (C.9)
Vo=Xx 6.02x 107 [cc/mol] (C.10)
Ve = 0.602 x  X[ce/mol] (C.11)

O000OPure0 000000000000 ODOOOOOOOOOOOOOOOO (Co)O0OOOO
gobooboboooboobooboobo

C3 0O0OUOOooobgon

0000000000000000000000000000000000000000000
00000000000000000020000000000bec0000000000000
000 VxO0OODOOOOOOOOO0O00000 3000000000000100000000
000000

Vx = Vex 2 (C.12)

a=(Vx)? (C.13)

00000 (4,1, 0000000000000 00000O000O00O00UO00UOO00O0 RO
0000D00000D000000D000 ex+/300000000000000000 20000
gbobooooboo400000b0obo0ooobooboboooobooooooD.

V3
R=ax - (C.14)
R— /x V3 (C.15)

4
R= {/(Vex 2)x ? (C.16)

Pure 000000000 OOOODOOOOODOOOO
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00D O00(@MDOODODn)

D.1 FeOO CuUOUOUOODOOOODOOOOODOO

O D.1: pureFe O total energy 0 00 OO

Fe2 Fel6 Feb4
Lattice Constant[0] total energy[eV] total energy[eV] total energyleV]
2.58030 -15.23613 -121.85049 -411.41331
2.72365 -16.44314 -131.18688 -442.99513
2.86700 -16.63209 -132.68417 -448.20624
3.01035 -16.32632 -129.07633 -438.49832
3.15370 -15.74602 -122.71767 -419.07506

0 D.2: pureFe 0 100000 total energy

Fe2/atom Fel6/atom Feb4/atom
Lattice Constant[00] total energy[eV/atom] total energy[eV/atom] total energyleV/atom]
2.58030 -7.618067000 -7.615655625 -7.618765000
2.72365 -8.221567500 -8.199180000 -8.203613518
2.86700 -8.316047000 -8.292760625 -8.300115555
3.01035 -8.163161500 -8.067270625 -8.120339259
3.15370 -7.873008500 -7.669854375 -7.760649259
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0 D.3: pureCu total energy 00 00O

Cu2 Cu2/atom Cul6 Cul6/atom

Lattice Constant[00J] total energy[eV] total energy[eV/atom] total energy[eV] total energy[eV /atom]
2.58030 -5.55345 -2.77672385 -45.16521 -2.82282568
2.72365 -6.87547 -3.43773625 -59.63852 -3.47740731
2.86700 -7.27900 -3.63950150 -58.79327 -3.67457962
3.01035 -7.17204 -3.58602225 -57.86046 -3.61627881
3.15370 -6.78581 -3.39290255 -54.72248 -3.42015500

0 D4: FeloOODODOO CulDOOODODODOODO total energy

Fel6 Fel5-Cul Fel5-Cul(relax)
Lattice Constant[0]] total energy[eV] total energy[eV] total energy[eV]
2.58030 -121.85049 -116.33917 -116.38633
2.65198 -131.18688 -125.75374 -125.78618
2.78099 -132.28819 -127.54217
2.79533 -132.57655
2.80966 -132.53775 -127.52780 -127.54217
2.82400 -132.74085 -127.63514 -127.65030
2.83833 -132.69335 -127.68848 -127.70638
2.85267 -132.58626 -127.71541 -127.73801
2.86700 -132.68418 -127.67319 -127.71242
2.88134 -132.45829 -127.51283 -127.65712
2.89567 -132.16988 -127.52707 -127.57429
2.91001 -127.35977 -127.43188
2.92434 -127.12371 -127.27026
3.01035 -129.07633 -125.13323 -125.69832
3.15370 -122.71767 -119.95819 -121.05918
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O DA FeloDOOOODO Si1OO00D00OO0OO0DOO total energy

Fel6 Fel5-Sil Fel5-Sil(relax)
Lattice Constant[d] total energy[eV] total energy[eV] total energy[eV]
2.58030 -121.85049 -120.52204 -120.52454
2.65198 -131.18688 -126.31924 -126.31963
2.72365 -129.68696 -129.68740
2.78099 -132.28819
2.79533 -132.57655 -131.08948 -131.09006
2.80966 -132.53775 -131.19174 -131.19242
2.82400 -132.74085 -131.23901 -131.23971
2.83833 -132.69335 -131.23487 -131.23541
2.85267 -132.58626 -131.20185 -131.20229
2.86700 -132.68418 -131.13001 -131.13049
2.88134 -132.45829 -131.02123 -131.02211
2.89567 -132.16988 -130.86517 -130.86894
2.91001 -130.69181 -130.70045
2.92434 -130.50346 -130.51343
3.01035 -129.07633 -128.57338 -128.67190
3.08203 -126.21463 -126.40333
3.15370 -122.71767 -123.46912 -123.76222
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O D.6: Feld-Cul-Sil O total energy

Lattice Constant[O |

total energyleV]

Cul-Fel4-Sil

Cul-Fel4-Sil(relax)
total energyleV]

Cul-Sil-Fel4(relax)
total energy[eV]

2.58030
2.65198
2.72365
2.78099
2.79533
2.80966
2.82400
2.83833
2.85267
2.86700
2.88134
2.89567
2.91001
2.92434
3.01035
3.08203
3.15370

-114.90858 -114.96542 -115.01706
-120.81576 -120.86167 -120.75389
-124.28117 -124.32612 -124.13620
-125.61651 -125.66019 -125.52829

-125.71537
-125.91639 -125.95698 -125.85387
-125.99991 -126.04269 -125.94452
-126.04205 -126.08362 -125.98450
-126.05987 -126.10271 -126.00013
-126.02145 -126.06541 -125.96068
-125.93934 -125.99696 -125.89209
-125.85172 -125.89674 -125.79368
-125.68784 -125.73397 -125.63420
-125.49949 -125.54565 -125.44944
-123.63513 -123.78551 -123.72122
-121.08818 -121.59705 -121.56733
-118.23972 -119.09245 -119.10883

O D.7: pure Fe (2x 2x 2)000 POSITION(x,y,z)

(0.00000,0.00000,0.00000
(1.43350,1.43350,1.43350
(0.00000,0.00000,2.86700
(1.43350,1.43350,4.30050

O =

(2.86700,0.00000,0.00000)
(4.30050,1.43350,1.43350)
(2.86700,0.00000,2.86700)
(4.30050,1.43350,4.30050)

(0.00000,2.86700,0.00000)
(1.43350,4.30050,1.43350)
(0.00000,2.86700,2.86700)
(1.43350,4.30050,4.30050)

0 D.8& CuinFe (2x 2x 2)000 POSITION(x.y.z)

(0.00000,0.00000,0.00000
(1.44441,1.44441,1.44441
(0.00000,0.00000,2.86700
(1.44441,1.44441,4.28959

— T — —

(2.86700,0.00000,0.00000)
(4.28959,1.44441,1.44441)
(2.86700,0.00000,2.86700)
(4.28959,1.44441,4.28959)

90

(0.00000,2.86700,0.00000)
(1.44441,4.28959,1.44441)
(0.00000,2.86700,2.86700)
(1.44441,4.28959,4.28959)

2.86700,2.86700,0.00000
4.30050,4.30050,1.43350
2.86700,2.86700,2.86700
4.30050,4.30050,4.30050

—~ ~~ —~
O O T

(2.86700,2.86700,0.00000
(4.28959,4.28959,1.44441
(2.86700,2.86700,2.86700
(4.28959,4.28959,4.28959

—_ Y — —



0 D.9: Cul-Feld-Sil (2x 2x 2) 000 POSITION(x,y,z)

(-0.02640,-0.02640,-0.02640)

(1.43201,1.43201,1.43201)
(0.00105,0.00105,2.88770)
(1.43987,1.43987,4.30676)

(2.88770,0.00105,0.00105)
(4.30676,1.43987,1.43987)
(2.87835,0.01039,2.87835)
(4.27942,1.47119,4.27942)
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0.00105,2.88770,0.00105
1.43987,4.30676,1.43987
0.01039,2.87835,2.87835
1.47119,4.27942,4.27942

—~ o~~~
~— — ~— —

(2.87835,2.87835,0.01039)
(4.27942,4.27942,1.47119)
(2.85713,2.85713,2.85713)
(4.26782,4.26782,4.26782)



D.2 JU000000oOoooobDn

O Dl10o: 000000000 16000000D00000

FelbTil Fel5V1 Fel5Crl Fel5Mnl Fel6
Volume[O 3]  total energy[eV] total energy[eV] total energy[eV] total energy[eV] total energyleV]
137.4360277 -118.42409 -119.72142 -122.78245 -122.38922 -121.85049
161.6381539 -131.00714 -132.32330 -132.38738 -131.73467 -131.18688
172.0633082 -132.66329 -133.84190 -133.82223 -133.03703 -132.28820
182.9273528 -133.29323 -134.36251 -134.31325 -133.37502 -132.69335
188.5267869 -133.30429 -134.33186 -134.28224 -133.24380 -132.68418
194.2393371 -133.13492 -134.12190 -134.07778 -133.19789 -132.16989
206.0083103 -132.38879 -133.29915 -133.26066 -132.38017 -130.87813
218.2433217 -131.24253 -132.03505 -131.97585 -130.54969 -129.07633
250.9291534 -126.62726 -127.17832 -127.17564 -125.63808 -122.71768
Fel5Col Fel5Nil Fel5Cul Fel5Znl

Volume[®]  total energy[eV] total energy[eV] total energy[eV] total energy[eV]

137.4360277 -120.62792 -118.95153 -116.38632 -113.88832

161.6381539 -130.03214 -128.21079 -125.78619 -123.52859

172.0633082 -131.43072 -129.62794 -127.19709 -125.09338

182.9273528 -131.87639 -130.16868 -127.70571 -125.67602

188.5267869 -131.82122 -130.15366 -127.71115 -125.68676

194.2393371 -131.59842 -129.98753 -127.57215 -125.56243

206.0083103 -130.73491 -129.21298 -126.86217 -124.91752

218.2433217 -129.45761 -127.95119 -125.69831 -123.78609

250.9291534 -124.56479 -123.09370 -121.06769 -119.28117
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0 Dill:0000o0ooboboooboboooogoobon

Ti \Y Cr
Volume[O ®]  total energy[eV] | Volume[d ] total energy[eV] | Volume[d®] total energy[eV]
23.95393246 -13.857315 18.04960677 -14.898244 16.38695596 -16.112154
28.17215754 -15.061197 21.22809548 -16.940113 19.27265620 -18.452894
32.85861792  -15.489050 24.75940572 -17.783406 22.47867759 -19.228002
38.03795757  -15.454284 28.66210705 -17.910100 26.02187915 -19.010407
43.73482045 -15.046732 32.95476901 -17.492017 29.91911987 -18.239873

Mn Fe Co
Volume[ 3]  total energy[eV] | Volume[O 3] total energy[eV] | Volume[d ] total energy[eV]
15.63514799  -15.331922 16.26580340 -14.604853 16.02995446 -12.006037
18.38845680 -17.266682 19.13016899 -16.168977 18.85278766 -13.659881
21.44739093 -17.766943 22.31248752 -16.662884 21.98896359 -14.085354
24.82803593 -17.554973 25.82949337 -16.498707 25.45497398 -13.870826
28.54647733 -16.822533 29.69792089  -15.992049 29.26731054 -13.268339

Ni Cu Zn
Volume[O 3] total energy[eV] | Volume[Od®] total energy[eV] | Volume[O ®] total energy[eV]
15.97199280 -9.1705646 17.22699242  -5.5843459 20.30667047 -0.4878587
18.78461910 -10.643616 20.26062088 -6.8873893 23.88262222 -1.7981009
21.90945514 -11.022840 23.63099097 -7.2790196 27.85551505 -2.3281129
25.36293301 -10.793047 27.35582592  -7.1648946 32.24624061 -2.4089387
29.16148479 -10.233129 31.45284898  -6.7747598 37.07569053 -2.2140722
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D.3 TiDOOOOooOoOOoObDbOoOooboobd

0O D12 xyOOOOOOOOODO

x=0.0

x=0.1

x=0.2

x=0.3

x=0.4

x=0.5

-170.2879770
-170.2645945
-170.1128003
-170.0323954
-169.9384907
-169.9184981
-169.9416558
-170.0144660
-170.1022679
-170.2368551
-170.2879770

-170.1414130
-170.2517903
-170.1622566
-170.0250834
-169.9390569
-169.8733092
-169.8794903
-169.9536060
-170.0179802
-170.1414130
-170.1414130

-170.0157185
-170.1764447
-170.1238541
-170.0292219
-169.9331425
-169.8665283
-169.8356853
-169.8728920
-169.9363098
-170.0157185
-170.0157185

-169.9440702
-170.0647723
-170.0710459
-170.0070757
-169.9371690
-169.8591383
-169.8102332
-169.8044430
-169.8784801
-169.9440702
-169.9440702

-169.8769362
-169.9860765
-169.9600047
-169.9579678
-169.9281543
-169.8705145
-169.8350639
-169.8095152
-169.8240793
-169.8769362
-169.8769362

-169.9029147
-169.9362084
-169.9490279
-169.9734496
-169.9332852
-169.8994398
-169.8765811
-169.8678033
-169.8549992
-169.9029147
-169.9029147

[eV]

x=0.6

x=0.7

x=0.8

x=0.9

x=1.0

y=0.0
y=0.1
y=0.2
y=0.3
y=0.4
y=0.5
y=0.6
y=0.7
y=0.8
y=0.9
y=1.0

-169.9521865
-169.9407728
-169.9659605
-170.0044510
-169.9529285
-169.9511885
-169.9431646
-169.9587245
-169.9516763
-169.9521865
-169.9521865

-170.0431198
-169.9665845
-169.9680205
-169.9959875
-170.0219742
-169.9829378
-169.9765514
-169.9990620
-170.0321778
-170.0431198
-170.0431198

-170.1339537
-170.0595194
-169.9657538
-169.9775028
-169.9951723
-169.9847754
-169.9719314
-170.0450732
-170.1097233
-170.1339537
-170.1339537

-170.2475574
-170.1574801
-170.0628353
-169.9651223
-169.9426723
-169.9340684
-169.9645994
-170.0494622
-170.1953761
-170.2475574
-170.2475574

-170.2368551
-170.2645945
-170.1128003
-170.0323954
-169.9384907
-169.9184981
-169.9416558
-170.0096048
-170.1022679
-170.2368551
-170.2368551
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D4 4d000000000ODO TiOc/a0DDOOO0OODOD

0 D.13: Tiddatoms 0 a0 cO0O0O0O0OO0O0OD0OODOO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925

a=9.7350

c=12.636 | -3.8981346E402 -4.1108396E4-02 -4.2098947E+02 -4.2245873E4-02
c=13.338 | -4.0125031E+02 -4.1847429E+02 -4.2485608E+02 -4.2325254E402
c=14.040 | -4.0853946E+402 -4.2188320E+4-02 -4.2556835E+02 -4.2166325E4-02

-4.1780678E+4-02
-4.1620011E+4-02
-4.1260767E+4-02

c=14.742 | -4.1266408E+02 -4.2232847TE+02 -4.2358392E+402 -4.1792567E+02 -4.0738346E4-02
c=15.444 | -4.1423175E4+02 -4.2067701E+02 -4.1965713E+02 -4.1244505E4-02 -4.0078001E~+02
0 D.14: FelTib3atoms 0 a0 0 cO0D0O0OO0OO0O00OOCOOO
[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350

c=12.636 | -3.9187007TE+02 -4.1218835E+02 -4.2138010E+02 -4.2233620E+-02
c=13.338 | -4.0294304E4-02 -4.1915033E4-02 -4.2482703E+02 -4.2276305E4-02
c=14.040 | -4.0990465E402 -4.2230564E4-02 -4.2525476E+02 -4.2088280E4-02
c=14.742 | -4.1371682E+02 -4.2072097E+02 -4.2309170E+02 -4.1693604E+402
c=15.444 | -4.1501668E+-02 -4.2072100E+4-02 -4.1904415E+02 -4.1134977E+-02

-4.1729575E+-02
-4.1532178E+4-02
-4.1145378E4-02
-4.0601360E4-02
-3.9929679E+4-02

0 D15: 00000 Z200000 a00 cOOO0O0DOOODOODOO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925

a=9.7350

c=12.636 | -3.9048712E4-02 -4.1147331E402 -4.2124806E+02 -4.2268885E4-02
c=13.338 | -4.0197754E+02 -4.1878477TE+02 -4.2499238E+02 -4.2336290E+4-02
c=14.040 | -4.0930502E+-02 -4.2223651E+402 -4.2567349E+02 -4.2169514E+-02
c=14.742 | -4.1341328E+4-02 -4.2273603E+4-02 -4.2371960E+02 -4.1792631E4-02
c=15.444 | -4.1496883E+02 -4.2113821E402 -4.1984979E+02 -4.1247935E4-02

-4.1803076E4-02
-4.1626481E4-02
-4.1257052E+-02
-4.0727890E4-02
-4.0068060E4-02
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0 D.i16: 00000 Z2O00000 a00 cOOO0O0DOOOOODODO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9047477E+02 -4.1145768E+02 -4.2123126E402 -4.2266149E+02 -4.1798792E4-02
c=13.338 | -4.0199395E+02 -4.1878150E+02 -4.2497773E+02 -4.2333762E4-02 -4.1622862E+02
c=14.040 | -4.0934463E+02 -4.2225076E+02 -4.2567147E+402 -4.2167983E+02 -4.1254280E4-02
c=14.742 | -4.1346363E+02 -4.2276979E+02 -4.2373348E402 -4.1792519E+02 -4.0726338E4-02
c=15.444 | -4.1501569E+02 -4.2117835E+02 -4.1987689E+02 -4.1249694E+02 -4.0067945E4-02

O D17 00000 NbOOOOD a00 cODODOOOODOOOOOD

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9298597E+02 -4.1363680E+02 -4.2307157E+402 -4.2418954E+02 -4.1924615E4-02
c=13.338 | -4.0436924E+02 -4.2079208E+02 -4.2661865E402 -4.2465237TE+02 -4.1725906E4-02
c=14.040 | -4.1158713E+02 -4.2411578E+02 -4.2714209E+402 -4.2279940E+02 -4.1336445E4-02
c=14.742 | -4.1557138E4+02 -4.2450613E+02 -4.2505772E+02 -4.1887671E+402 -4.0790255E+02
c=15.444 | -4.1699462E+02 -4.2278635E+02 -4.2107817E+402 -4.1330812E+02 -4.0116952E4-02

O D18 00000 NbOOOOD aO0O0 cODODOOOODOOOODO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9298828E+02 -4.1363726E+02 -4.2309827E+402 -4.2424232E+02 -4.1931691E4-02
c=13.338 | -4.0438216E4+02 -4.2079082E+02 -4.2662213E+02 -4.2467403E+4-02 -4.1730274E+02
c=14.040 | -4.1160438E+02 -4.2412113E4+02 -4.2713833E+402 -4.2280030E+02 -4.1338634E4-02
c=14.742 | -4.1558688E+02 -4.2452029E+402 -4.2506104E402 -4.1887723E+02 -4.0791054E4-02
c=15.444 | -4.1699546E+02 -4.2279875E+02 -4.2108686E+02 -4.1331204E+02 -4.0117793E4-02

O D19: 00000 MoOOODDO a0 cOOOOODOOOODO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9444713E+02 -4.1475016E+02 -4.2388107E+402 -4.2472914E+02 -4.1956825E4-02
c=13.338 | -4.0571000E+02 -4.2174639E+02 -4.2724801E402 -4.2502149E+02 -4.1741629E4-02
c=14.040 | -4.1279815E+02 -4.2495811E+02 -4.2763675E+02 -4.2301536E+02 -4.1337644E4-02
c=14.742 | -4.1665118E4-02 -4.2524741E+02 -4.2545453E+02 -4.1898554E+402 -4.0779436E+02
c=15.444 | -4.1795117E+02 -4.2342442E+02 -4.2139533E402 -4.1333945E+02 -4.0097592E4-02
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0O D20: 00000 MoDOOOOO a0 cODOOOODODOOODO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9446331E+02 -4.1477220E4+02 -4.2395530E+402 -4.2486770E+02 -4.1975312E4-02
c=13.338 | -4.0570727E4+02 -4.2174220E+02 -4.2726703E+02 -4.2509188E4-02 -4.1753866E+02
c=14.040 | -4.1278387E+02 -4.2494391E+402 -4.2762536E402 -4.2303660E+02 -4.1344415E4-02
c=14.742 | -4.1663148E+02 -4.252354TE+02 -4.2543818E+402 -4.1898039E+02 -4.0782098E4-02
c=15.444 | -4.1791214E+02 -4.2340912E+02 -4.2138014E+402 -4.1332732E+02 -4.0097993E+-02

O D21: 00000 TcODODOO a0OO cOOOOOOOODODODOO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9495862E+02 -4.1502482E+02 -4.2394384E402 -4.2460864E+02 -4.1931282E4-02
c=13.338 | -4.0611450E+02 -4.2190470E+02 -4.2720435E402 -4.2481805E+02 -4.1708804E4-02
c=14.040 | -4.1309527E+02 -4.2503452E+02 -4.2750883E+02 -4.2273333E+02 -4.1298310E4-02
c=14.742 | -4.1685079E4+02 -4.2524709E+02 -4.2526728E+02 -4.1864605E+4-02 -4.0734894E~+02
c=15.444 | -4.1806392E+02 -4.2335345E+02 -4.2115784E402 -4.1296132E+02 -4.0049482E4-02

0 D22 00000 TeOODOD abO cOOODODOOOOODO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9498839E+02 -4.1506700E+02 -4.2404960E+402 -4.2480516E+02 -4.1957857E4-02
c=13.338 | -4.0609391E402 -4.2189487E+02 -4.2723635E+02 -4.2492069E4-02 -4.1726278E+02
c=14.040 | -4.1304753E+02 -4.2499632E+02 -4.2748598E402 -4.2276510E+02 -4.1308203E4-02
c=14.742 | -4.1679389E+02 -4.2520711E+402 -4.2522733E402 -4.1863096E+02 -4.0738659E4-02
c=15.444 | -4.1798635E+02 -4.2331232E+4+02 -4.2111772E+402 -4.1292938E+02 -4.0049396E4-02

0O D23: 00000 RuO0OO0OD0 00 cODOOOODOOOODO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350
c=12.636 | -3.9447757E+02 -4.1441296E+02 -4.2318757E+402 -4.2372789E+02 -4.1834962E4-02
c=13.338 | -4.0553860E+02 -4.2122078E+02 -4.2642081E+402 -4.2394095E+02 -4.1613730E4-02
c=14.040 | -4.1244229E+02 -4.2429382E+02 -4.2668406E+402 -4.2184430E+02 -4.1204370E4-02
c=14.742 | -4.1613886E+02 -4.2445769E+02 -4.2441422E+02 -4.1774003E+4-02 -4.0641154E+02
c=15.444 | -4.1729525E+02 -4.225234TE4+02 -4.2027955E402 -4.1204699E+02 -3.9955718E4-02
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0 D24: 00000 ReO0O0ODOO0 a00 cOO0O0O0DOOODOODOO

[eV] a="7.965 a=8.4075 a=8.8500 a=9.2925 a=9.7350

c=12.636 | -3.9452748E+02 -4.1446897TE+02 -4.2329548E+402 -4.2393150E+02 -4.1863646E4-02
c=13.338 | -4.0551111E402 -4.2121246E+02 -4.2646055E+02 -4.2405226E4-02 -4.1632372E+02
c=14.040 | -4.1237063E4+02 -4.2423845E+02 -4.2665518E+02 -4.2188117E+402 -4.1215329E+02
c=14.742 | -4.1605235E+02 -4.2439224E+402 -4.2435450E402 -4.1771732E+02 -4.0645370E4-02
c=15.444 | -4.1719111E+02 -4.2245769E+02 -4.2021541E402 -4.1199806E+02 -3.9954985E4-02

0 D.25: MedeAODOOOOOOOOOOO

00000  total-energy[eV](MedeA) segregation limit[eV] dilution limit enthalpy(AH)

FelTib3 -425.967969 -426.0015248 0.03355578
Zr1FelTib2 -426.815382 -426.6503009 -0.165081141
Nb1FelTi52 -428.223873 -428.2293404 0.005467359
Mo1FelTi52 -429.450650 -428.9213394 -0.529310641
TclFelTib2 -429.775928 -428.5193534 -1.256574641
RulFelTi52 -428.922731 -427.2712244 -1.651506641
Rh1FelTi52 -427.232073 -425.3725338 -1.859539241
Pd1FelTi52 -424.679583 -423.2832058 -1.396377241
AglFelTi52 -421.026463 -420.9188907 -0.107572341
Cd1FelTib2 -419.055261 -419.0260644 -0.029196641
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